Jorg Kruger GmbH
CENTRIFUGAL PUMPS 3 series

CONTENTS 50 Hz
Page

- SPECIFICATIONS
PUMP SPECIFICATIONS 200
PUMP SPECIFICATIONS 201
MOTOR SPECIFICATIONS 202
SELECTION CHART 203
SELECTION CHART 204
SELECTION CHART 205
PERFORMANCE CURVE 32-125 206
PERFORMANCE CURVE 32-160 207
PERFORMANCE CURVE 32-200 208
PERFORMANCE CURVE 40-125 209
PERFORMANCE CURVE 40-160 210
PERFORMANCE CURVE 40-200 211
PERFORMANCE CURVE 50-125 212
PERFORMANCE CURVE 50-160 213
PERFORMANCE CURVE 50-200 214
PERFORMANCE CURVE 65-125 215
PERFORMANCE CURVE 65-160 216
PERFORMANCE CURVE 65-200 217
PERFORMANCE CURVE 65-250 218
PERFORMANCE CURVE 80-160 219
PERFORMANCE CURVE 80-200 220
PERFORMANCE CURVE 80-250 221

- CONSTRUCTIONS
SECTIONAL VIEW 3M-3LM (32,40,50,65-125/160/200) 300
CONSTRUCTIONS 3M-3LM (32,40,50,65-125/160/200) 301
SECTIONAL VIEW 3LM 80-160/11/13 302
SECTIONAL VIEW 3LM 80-160/15/18.5 303
CONSTRUCTIONS 3LM 80-160 304
SECTIONAL VIEW 3S-3LS (32,40,50) 305
SECTIONAL VIEW 3S-3LS (65-125/160/200) 306
CONSTRUCTIONS 3S-3LS (32,40,50,65-125/160/200) 307
SECTIONAL VIEW 3LS 80-160 308
CONSTRUCTIONS 3LS 80-160 309
SECTIONAL VIEW 3LS (65-250, 80-200/250) 310
CONSTRUCTIONS 3LS (65-250, 80-200/250) 311
SECTIONAL VIEW 3P-3LP (32,40,50,65-125/160/200) 312
CONSTRUCTIONS 3P-3LP (32,40,50,65-125/160/200) 313
SECTIONAL VIEW 3LP 80-160 314
SECTIONAL VIEW 3LP (65-250, 80-200/250) 315
SECTIONAL VIEW 3LP (65-250, 80-200/250) 316
CONSTRUCTIONS 3LP 80-160 317
CONSTRUCTIONS 3LP (65-250, 80-200/250) 318

100

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS

3 series

CONTENTS 50 Hz
Page

CONSTRUCTIONS : BALL BEARING 319
CONSTRUCTIONS : BALL BEARING 320
CONSTRUCTIONS : MECHANICAL SEAL (standard and H version) 321
CONSTRUCTIONS : MECHANICAL SEAL (L version @ 22) 322
CONSTRUCTIONS : MECHANICAL SEAL (L version @ 30-35) 323
CONSTRUCTIONS : MECHANICAL SEAL (HS version @ 22) 324
CONSTRUCTIONS : MECHANICAL SEAL (HS and E version) 325
CONSTRUCTIONS : COUPLING 326
CONSTRUCTIONS : FLEXIBLE COUPLING 327
CONSTRUCTIONS : COUNTERFLANGE 328
CONSTRUCTIONS : COUNTERFLANGE 329

- DIMENSIONS
DIMENSIONS 3M-3LM (32,40,50,65/125/160) 400
DIMENSIONS 3M-3LM (50-200,65-160/15,65-200) 401
DIMENSIONS 3LM 80-160/11/13 402
DIMENSIONS 3LM 80-160/15/18.5 403
DIMENSIONS 3S-3LS (32,40,50) 404
DIMENSIONS 3S-3LS (32,65) 405
DIMENSIONS 3S-3LS (40,50,65) 406
DIMENSIONS 3S-3LS (32,40,50,65) 407
DIMENSIONS 3LS 80-160 408
DIMENSIONS 3LS (65-250,80-200/250) 409
DIMENSIONS 3LS 80-200/250 410
DIMENSIONS 3LS 80-250/55 411
DIMENSIONS 3P-3LP (32-40-50-65) 412
DIMENSIONS 3P-3LP (32-40-50-65) 413
DIMENSIONS 3LP (65-250,80) 414
DIMENSIONS 3LP (80-200/250) 415
DIMENSIONS 3LP 80-250/55 416
PACKING AND WEIGHT 3M-3LM 417
PACKING AND WEIGHT 3S-3LS 418
DIMENSIONS AND WEIGHT 3P-3LP 419

- TECHNICAL DATA
MOTOR DATA 500
MOTOR DATA 501

101

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS

3 series

P U M P SPECIFICATIONS

50 Hz

Version

w
<

w
(0]

w
U

w
w
<

3LS

3LP

Pump sizes

32-125

32-160

32-200

40-125

40-160

40-200

50-125

50-160

50-200

65-125

65-160

65-200

<|=<|=<|=<|<|=<|=<|<|<|=<|<]|=<

<|=<|<|=<|=<|<|<|<|=<|<|=<|=<

<|=<|=<|=<|<|=<|=<|<|<|<|=<|=<

<|=<|=<|=<|=<|=<|=<|<|<|=<|<]|=<

65-250

80-160

-~

80-200

80-250

VNNV << << << << ][<[<|<

NIV << << << << <<

Clean water and moderately aggressive fluids

Type of liquid Clean water, drinking water, water contains glycol

for E version

Liquid
Handled min. 10 -10

-20 for E version

Temperature [°C]
+90 +110

max. 110 for (H-HS version) +120 for E version

Maximum working pressure [MPa] 1

B Available also with H and HS option for 32, 40, 50, 65-125/160/200.
® Available also with H and E option for 65-250, 80.
— Not available.

200

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS

3 series

P U M P SPECIFICATIONS

50 Hz

Version aMm | 3 | 3 | 3zM | 3Ls | a3Lp
Closed centrifugal type for [32, 40, 50 version]
Impeller Reinforced laser welding for [40-200/11, 50-200/15]
Closed centrifugal three dimensional blades for [65 and 80 version]
Construction Mechanical seal with stationary
Shaft seal type Mechanical seal ring secured against rotation.
Mechanical seal for [H-E option]
Bearing Sealed ball bearing
32-125/160/200 Flange DN50 according DIN 2532 standard
40-125/160/200 Flange DN65 according DIN 2532 standard
Suction 50-125/160/200 Flange DN65 according DIN 2532 standard
65-125/160/200/250 Flange DN80 according DIN 2532 standard
Pipe 80-160/200/250 Flange DN100 according DIN 2532 standard
Connection 32-125/160/200 Flange DN32 according DIN 2532 standard
40-125/160/200 Flange DN40 according DIN 2532 standard
Discharge 50-125/160/200 Flange DN50 according DIN 2532 standard
65-125/160/200/250 Flange DN65 according DIN 2532 standard
80-160/200/250 Flange DN80 according DIN 2532 standard
32-125/160/200 EN 1.4404
Casing 40-125/160/200 EN 1.4301 (AISI 304) (AISI 316L)
65-250 / EN 1.4401 (AISI 316)
80-160/200/250 Made by precision casting
jéjggﬁggggg EN 1.4301 EN 1.4404
50-125/160 (AISI 304) (AISI 316L)
Impeller 65-125/160/200 EN 1.4401 (AISI 316)
Made by precision casting
65-250 / EN 1.4401 (AISI 316)
80-160/200/250 Made by precision casting
32-125/160/200
40-125/160/200 EN 1.4404
Casing cover | %0-125/160 EN 1.4301 (AISI 304) (AISI 316L)
65-125/160/200
65-250 / EN 1.4401 (AISI 316)
80-200/250 Made by precision casting
Ceramic/Carbon/NBR
32-125/160/200 [standard version]
40-125/160/200 Ceramic/Carbon/FPM SiC/SiC/FPM
50-125/160 [H option] [L version]
65-125/160/200 SiC/SiC/IFPM
Material ~ |Mechanical seal [HS option] SIC/SICIFPM
[L version]
65-250 / Ceramic/Carbon/FPM
80-160/200/250 [H option]
SiC/Carbon/EPDM
[E option]
. NBR
O-ring FPM for [H-HS option] FPM
32, 40, 50
65-125 d=19
65-160/11 EN 1.4404
50-200/15 |d=22 EN 1.4301 (AISI 304) (AISI 316L)
65-160/15
65-200 d=24
Shaft 65250  |d=24 / EN 1.4462
(Duplex stainless steel)
80-160 d=24 / EN 1.4404 (AISI 316L)
80-200/22 |d=24 / EN 1.4404
80-200/ d=24 / EN 1.4462
30-37kW (Duplex stainless steel)
EN 1.4462
80-250 d=29 ! (Duplex stainless steel)
Bracket Cast iron - aluminium

201

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 -

Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS

3 series

M OTO R SPECIFICATIONS

50 Hz
Version 3(.)M 3(.)8 3(.)P
- Electric-TEFC
- Single Fhase | Three phase
Mo.of Poles 2
Rotation speed [min'] ~2900
Insulation class F | F (temperature rise class B)
Protection degree IP 55
; (kW] 1.1+22 11+22 1.1+55
Power ratin
9 [HP] 15+30 15+30 15+75
Frequency [HZ] 50
220+240 / 380+415 £5% (up to 4.0 kW)
vallage V] 230 ZI0 380+415 | 660+720 5% (5.5 kW and abave)
Casing material Aluminium / Cast iron
PG 135
. . - M20x1.5 - M25x1.5 - M32x1 .5
Dimensions of cable entry M20x1.5 PG 16 - M40x1 5 - M50x1.5 - M&3x1 5
PG 21
MBS
[up to 203 KW
Flange mount {IEC maotor) / IM B35 IM B3
[3.0 kw and above )

202

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS

3 series

SELECTION CHART

50 Hz

TYPE KEY

L3 [ L J[ ™M J[ H J[65]-[160]/[ 22 []

M_|

SINGLE PHASE ONLY

MOTOR OUTPUT kW

1.1

15

IMPELLER CODE

30

55

125

160

DISCHARGE SIZE

200

250

32

40

MATERIAL OPTION

50

65

80

MODEL TYPE

VERSION

For versions
32,40, 50
65-125/160/200

AISI 304

AISI 316L

For versions
65-250 , 80

AISI 316

3 SERIES

*) No indication

203

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS 3 Serles

SELECTION CHART 50 Hz

3 SERIES: 32, 40, 50 VERSION

Pump type kW | HP |i/min 0 100/ 150 200‘ 300 333 360 400 450 500 600 700 800 1000‘ 1200
meh g 12 18 2 2 24 27 o B 42 k8 G0 T2

32-125/1.1(M) *| 1.1 | 15 225 21 | 19.9 | 184 | 141 12-4------
32-160/1.5(M) * | 1.5 2 295 28 | 265 | 245 | 19.2 17 -4------
32-160/2.2(M) * | 2.2 3 37| 355 | 34 32 27 25-4------
32-200/3.0 3 4 44| 42 40 | 375 31 28-4------
32-200/4.0 4 | 55 55| 535 | 52 | 495 | 435 | 405 | 38 - - - - - - - -
32-200/5.5 55| 75 705 69 | 675 | 65 | 585-{-----
32-200/7.5 75 | 10 705/ 69 | 67.5| 65 | 585 | 555 | 53 49 44 - - - - - -
40-125/1.5(M) * | 1.5 | 2 20| - - 19 | 176 17 165 | 157 | 145 | 132 | 103 7 - - -
40-125/22(M) * | 22 | 3 265 - - | 255| 24 | 235| 23 22 21 195 | 164 13 - - -
40-160/3.0 3 4 31 - - | 295 | 275 27 26.5 25.5 24 22,5 20 17 -
40-160/4.0 4 | 55 40| - - | 385 37 36 | 355 | 345 33 32 29 255 - - -
40-200/5.5 55| 75 47| - - | 455 44 43 | 425 41 395 38 35 31 - - -
40-200/7.5 75| 10 58] - - 57 | 555 | 55 | 545 | 535 | 525 51 415 44 -
40-200/11 1 | 15 72| - - 71 70 70 | 695 | 685 | 675 66 63 59 - - -
50-125/2.2(M) * | 22 | 3 19| - - - - - - 17.5 17 163 | 149 | 134 | 117 8 -
50-125/3.0 3 4 22| - - - - - - 20.5 20 196 | 184 17 154 | 118 8
50-125/4.0 4 | 55 265 - - - - - - 26 255 25 24 225 | 215 | 179 14
50-160/5.5 55| 75 33 - - - - - - 31 305 30 285 27 255 22 18
50-160/7.5 75 | 10 40| - - - - - - 385 38 37.5 36 35 335 30 26
50-200/9.2 9.2 | 125 53| - - - - - - - - 50 49 475 | 455 | 405 34
50-200/11 1 | 15 59r - - -|- 56 55 54 52 48 42
50-200/15 15 | 20 72p - - 70 69 68 66 62 57

* Single phase version only for 3M type.

3 SERIES: 65, 80 VERSION

Pump type

KW | HP | /min 0| 600/ 700/ 900| 1300| 1500| 1700, 1900/ 2100| 2200 2300/ 2400/ 2500| 3000/ 3400| 3600| 3800| 4000

mih 0| 36| 42| 54 78/ 90| 102| 114| 126| 132| 138 144| 150| 180| 204| 216| 228| 240

65-125/4.0 4 | 55 22.2/19.8] 19 [173] 133 | 11 | 86 6.3 - - - - - - - - - -
65-125/5.5 55| 75 27| - | 24 |222| 18 |15.7| 133 | 10.8 8 - - - - - - - - -
65-125/7.5 75| 10 32| - |295|27.8] 235|211 187 | 161 | 134 | 12 - - - - - - - -
65-160/7.5 75| 10 32| - | 30 | 286 24.8 | 225]| 19.9 | 171 | 142 - - - - - - - - -
65-160/9.2 9.2 | 125 36.5| - [345|328]| 28.8 | 265| 239 | 21.1 | 183 | 16.8 - - - - - - - -
65-160/11 1 | 15 405 - |385|37.1| 331 |309| 284 | 258 | 23 | 215 | 20 - - - - - - -
65-160/15 15 | 20 48| - |455| 44 | 40 | 378 353 | 326 | 296 | 28 | 265 - - - - - - -
65-200/15 15 | 20 535/ - | 51 | 49 | 44 |415| 384 | 353 | 31.8 | 30 - - - - - - - -
65-200/18.5 18.5| 25 60.5| - [585[565| 515 | 49 | 46 43 | 397 | 38 | 363 - - - - - - -
65-200/22 22 | 30 67| - |655| 64 | 595 | 57 | 54 51 48 | 465 | 45 - - - - - - -
65-250/30 30 | 40 78| - - | 77 | 735 | 71 68 | 645 | 60 | 575 | 55 52 - - - - - -
65-250/37 37 | 50 89| - - | 8 | 85 | 83 | 805 | 775 | 74 72 70 | 675 | 65 - - - - -
80-160/11 1 | 15 29| - - - | 273 | 264 | 254 | 242 | 23 | 224 | 218 | 211 | 204 | 164 | 125 - - -
80-160713 13 1175 32| - - - | 305 |29.7| 288 | 27.7 | 265 | 259 | 253 | 246 | 24 | 201 | 165 | 145 - -
80-160/15R 15 | 20
80-160/15 35| - - - 34 | 333|325 | 315|305 | 30 | 294 | 288 | 281 | 244 | 21 | 191 | 17 -
80-160/18.5 18.5| 25 40| - - - 39 |384| 376 | 367 | 357 | 352 | 347 | 341 | 335 | 30 | 264 | 244 | 223 | 20
80-200/22 22 | 30 50| - - - 48 | 47 | 455 | 445 | 43 42 41 40 39 | 332 | 278 | 25 - -
80-200/30 30 | 40 60| - - - | 585 | 58 | 57 56 | 545 | 54 53 52 51 | 465 | 415 | 39 | 361 | 33
80-200/37 37 | 50 66| - - - 64 | 63 | 62 61 | 595 | 59 58 | 575 | 565 | 51.5 | 47 | 445 | 415 | 385
80-250/37 37 | 50 73| - - - | 715 | 705| 685 | 66.5 | 64 63 | 615 | 60 | 585 | 485 | 38 - - -
80-250/45 45 | 60 84| - - - | 825 | 815| 80 78 76 75 | 735 | 725 | 71 62 53 48 | 425 -
80-250/55 55 | 75 95| - - - | 935 |925| 915 | 90 | 885 | 875 | 865 | 855 | 84 | 765 | 685 | 645 | 60 55

204

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS 3 Serles

SELECTION CHART 50 Hz

U.S.g.p.m. 50 60 70 80 90100 120 140 160180200 250 300 350 400 500 600 700 1000
1 1 1 | 11 1 1 | 11 1 | 1 | 11 1 | | 1

I | | U I T T°1 | I T | I I I
Imp.gp.m. 40 50 60 70 80 90100 120 140 160180200 250 300 350 400 500 600 700 1000

120
350
100
I AT 1T O N B e === N AN B W R EEREE S V)
80 65-250/37 [T 2
! il ~ "‘Dﬁf 250
] 65—250/70"“ N 5\1\00\2‘50 ‘ (]
m —— | L ] Lt N ) 2 ft
i S i S e il W 2y CRNEE
~ L [ |4 753 65 0.
50 3‘2 32\20(;\ ::j“i‘ 10V i AR 5 200/22> J ~0\)go CAN
2-200/4.0 | | Tl 2N -2 W, NN <N\ L 150
g - iy D
=[] et TR BN B SN I\,
40 R SesEEm=r O NN N NG R
2-200/39 D SE. ; “’%?{ EeRlo, N2
B T | ) 5 } } i g ° } I N 7 \7:
© 32-160/2.7 i NN % ; &) 100
SSRESESEE AT SSED ¥ N AN NS
i S —t— = (% = 774N O N ND
327160, . N RN N NG N
Ml\s F D% <2 N J\\ 75
R i 2., 1 K> N \% X
20 | 6’% }‘ 6‘0/ [ M‘/?o\ \é&\/@\
32~125 /17T PN N DN NN Vi L\
N i 25 o LT ‘8\‘ \ "\60'\‘
i SONONG T EN N B ) 2\
15 S ANETRA U Ay i~ 50
2\~ >
N YHEAN 179N\ 2\
&, h VIR, | Z 40
NN
10 o EANEIER
9 Saih N / - 30
8
25
7 ]
6 — 20
) J [ /
100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000 2500 3000 4000 5000
Q [I/min]
T T T T T T T 171 - T T 1 T T T ]
6 7 8 910 12 14 16 18 20 25 30 40 50 60 70 100 150 200 300
Q [m /h

PERFORMANCE CURVES

The specifications below qualify the curves shown on the following pages.
?  Tolerances according to ISO 9906 Annex A
?  The curves refer to effective speed of asynchronous motors at 50 Hz
?  Measurements were carried out with clean water at 20°C of temperature and with a kinematic viscosity
of Q= 1 mm?/s (1 cSt)
?  The NPSH curve is an average curve obtained in the same conditions of performance curves.
During the pump selection, consider to get a safety margin of at least 1 m.
The continuos curves indicate the recommended working range. The dotted curve is only a guide.
?  In order to avoid the risk of over-heating, the pumps should not be used at a flow rate below 10%
of best efficiency point.
?  Symbols explanation:
Q = volume flow rate
H = total head
P, = pump power input (shaft power)
K = pump efficiency
NPSH = net positive suction head required by the pump

205

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS 3 Serles

PERFORMANCE CURVE 50 Hz

32-125/1.1 (1.1kW) — impeller diameter = 133 mm

0 U.S.g.p.m. 20 30 40 50 60 70 80 90 100
| | | | | | | | | | |
| [ [ [ [ [ [ [ [
’ 0 Imp.g.p.m. 20 30 40 50 60 70 80
80
H —— | H
1 70
[m] " ~ [ft]
~ 72
\5/7, 7 60
[~
™~
S
15 ™ L 50
N
NG
N — 40
10
NPSH 30
[m] [ft]
62020
5 5
15
p— 4
NPSH ——— = 31010
2
il
0 0
0 50 100 150 200 250 300 350 Q [I/min]
[ [ [ [ [ [ [ [ [ [ [ [ |
0 2 4 6 8 10 12 14 16 18 20 22 Q[mh]
1.6
P2 -
[kw] 125/1.1
0.8 =T
0.4
0 50 100 150 200 250 300 350 Q [I/min]
70
HEN
" = = ‘12'5/‘1 ]
60 = .
[%] T
50 —
/’/'
40
30
0 50 100 150 200 250 300 350 Q [I/min]

Rotation speed =2900 min-1
Test standard : ISO 9906 Annex A

206

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS 3 Serles

PERFORMANCE CURVE 50 Hz

32-160/1.5 (1.5kW) — impeller diameter = 151 mm
32-160/2.2 (2.2kW) — impeller diameter = 166 mm

0 US.gp.m. 20 30 40 50 60 70 80 90 100
| | | | | | | | | | |
| I I I I [ I I I
0 Imp.gpm. 20 30 40 50 60 70 80
40 130
H = 120 H
—
[m] 35 ~~_ 7 [ft]
60 =110
\/32
N
0 100
e C
~ N —90
TN ; N
25 \=62/7,5 { | 50
NPSH |
N
2 Ny [m] [t
N 5 60
0 7 2
15 5 1590
NPSH T st
15
10
0 50 100 150 200 250 300 350 Q [I/min]
[ I I I I I I I I I I I ]
0 2 4 6 8 10 12 14 16 18 20 22 Q[m3h]
24 160,/2.2
(kW] — L
1.6 — 160/1.5
1.2 — =
0.8
0 50 100 150 200 250 300 350 Q [I/min]
70
: 1T
_— ~160,/2.2
[%] 60 P ~160/1.5
50 —
40
0 50 100 150 200 250 300 350 Q [1/min]

Rotation speed =2900 min-1
Test standard : 1ISO 9906 Annex A

207

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS

3 series

PERFORMANCE CURVE 50 Hz
32-200/3  (3.0kW) — impeller diameter = 186 mm
32-200/4 (4.0kW) — impeller diameter = 200 mm
32-200/5.5 (5.5kW) — impeller diameter = 224 mm
32-200/7.5 (7.5kW) — impeller diameter = 224 mm
0 USgpm. 20 30 40 50 60 70 80 90 100 10 120 130
| | | | | | | | | | | | | |
| I I | I | I I I I | ]
0 Imp.g.p.m. 20 30 40 50 60 70 80 90 100 10
80 - 260
H 240 H
[m] 70—+ e [ft]
=~ 220
T~
~ 2
60 ~s5 - 200
\\\
g 180
[~
%0 ~ 202 /40 h 200/) 160
N g
T NG NPSH |-140
40 e — . ™ [m] [#t]
0
B ‘2/3;0 8 g5 120
A
A 612
30 < ~ | 100
{ 4
NPSH RN 10
24 5 80
20
0 50 100 150 200 250 300 350 400 450 Q [I/min]
[ I I I I I I I I I I I I I I ]
0 2 4 6 8 10 12 14 16 18 20 22 24 2 28 Q[m¥n]
8
[TTT] HEN
P2 00/5.5
[ 6 - 200/ 200/7.5
4 = | 200/4.0
. 200/3.0 |
2 L i L L L
0 50 100 150 200 250 300 350 400 450 Q [I/min]
ne" EEEEN [T11200/4.0 RN
50 = 200/7.5
%] = 200/5.5 | | 200/3.0
40 ==
Pz
30 -
20
0 50 100 150 200 250 300 350 400 450 Q [I/min]
Rotation speed =2900 min-1
Test standard : ISO 9906 Annex A
208

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS

3 series

PERFORMANCE CURVE 50 Hz
40-125/1.5 (1.5kW) — impeller diameter = 125 mm
40-125/2.2 (2.2kW) — impeller diameter = 140 mm
0 US.gpm. 40 60 80 100 120 140 160 180 200
| | | | | | | | | | |
| I I I I | I I I
© 0 Imp.g.p.m. 40 60 80 100 120 140 160
90
H —— H
I ft
[m] 25 ~ 7 g LM
2
Q2
™S L 70
20 ——
— N - 60
(.5 N
15 N~ - 50
\\\ N
3 - 40
iy NPSH
10 h [m] [ 30
™ %
7
2020
5 54 15
NPSH - — 310110
)
0 0
0 100 200 300 400 500 600 700 Q [1/min]
[ I I I I I I I I I I ]
0 4 12 16 20 24 28 32 36 40 44 Q[m3h]
3
5, ]
[w] 2 E—— 125/2.211
1 ] 125/1.57
0
0 100 200 300 400 500 600 700 Q [I/min]
80
n = ~
|~ T~
[%] 70 — ~ ~125/2.27]
/ |||
60
r 125/15 | |
5 L1
0 100 200 300 400 500 600 700 Q [I/min]
Rotation speed =2900 min-1
Test standard : 1ISO 9906 Annex A
209

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS

3 series

PERFORMANCE CURVE 50 Hz
40-160/3 (3.0kW) — impeller diameter = 151 mm
40-160/4 (4.0kW) — impeller diameter = 166 mm
0 US.gp.m. 40 60 80 100 120 140 160 180 200
| ] ] ] ] ] | ] ] ] ]
| T | | | | T T T
. 0 Imp.g.p.m. 40 60 80 100 120 140 160
140
H H
[m] T 130 [#]
R 120
. L
35 84,
=110
Iy
“ e ™ —100
~ ™ 90
~~/6
~N.00
25 ~Jo
N - 80
S
‘ NPSH 70
2 = [m] [ft]
~ b - 60
20
15 5 1550
NPSH —
310 0
15
10
0 100 200 300 400 500 600 700 Q [I/min]
[ I I I I I I I I I I I ]
0 4 8 12 16 20 24 28 32 36 40 44 Q[m3n]
5
[ [ 1
P2 4 160/4.01
[kw] —— 1
3 —— 160/3.07]
2 = =
1
0 100 200 300 400 500 600 700 Q [I/min]
o 1]
— ~160/4.0
(%] 70 — 160/3.07 |
60 =
prd
50
0 100 200 300 400 500 600 700 Q [I/min]
Rotation speed =2900 min-1
Test standard : 1ISO 9906 Annex A
210

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld

- Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS

3 series

PERFORMANCE CURVE 50 Hz
40-200/5.5 (5.5kW) — impeller diameter = 183 mm
40-200/7.5 (7.5kW) — impeller diameter = 200 mm
40-200/11 (11kw) —impeller diameter = 224 mm
0 US.gpm. 40 60 80 100 120 140 160 180 200
| ] ] ] ] ] | ] ] ] ]
| I I T T [ I I I
5 0 Imp.g.p.m. 40 60 80 100 120 140 160
250
H H
[m] 70 T =200/1 230 [ft]
—
~—— 210
60 S~
— P 190
~—<200
075
~ 170
50 =
—_— e
i — S 150
— 200/25
40 = NPSH 130
~~~ [m] [ft]
o~
~_ 7 oo
30 ~ 5145
NPSH | " 3%
5
1 L
20 70
0 100 200 300 400 500 600 700 Q [I/min]
[ I I I I I I I I I I I ]
0 4 8 12 16 20 24 28 32 36 40 44 Q[m3h]
12 T
P2 10 200/1117
kw] 8 — — [
(] 6 —— 200/7.5
= 200/5.5—
4 .
2 11
0 100 200 300 400 500 600 700 Q [I/min]
80 T T
n 7 ‘ ! 200/7.5]
(7] 4 e
! !
50 200/5.5 =T
40 200/11
30 L [ |
0 100 200 300 400 500 600 700 Q [I/min]
Rotation speed =2900 min-1
Test standard : ISO 9906 Annex A
211

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS

3 series

PERFORMANCE CURVE 50 Hz
50-125/2.2 (2.2kW) — impeller diameter = 126 mm
50-125/3 (3.0kW) — impeller diameter = 131 mm
50-125/4 (4.0kW) — impeller diameter = 140 mm
0 US.gpm. 50 100 150 200 250 300 350
| | | | | | | |
| I I I I | I
© 0 Imp.gpm. 50 100 150 200 250 300
H | H
[m] 25 T 7 [ft]
25 80
\‘/ 40
20 - \\‘\
T+ 25 L
~ L0 %
~ ™~
15 725 SN
)/ NG
& N
\\‘ N L 40
NG NG
NPSH
[m] [ft]
620120
° NPSH ~ ] 5
- — 310
275
0 0
0 200 400 600 800 1000 1200 Q [1/min]
[ I I I I I I I I
0 10 20 30 40 50 60 70 Q [m3/h]
6
]
P T T
[kvf] 4 125/4.01—
— 125/3.0
2 125/2.2
) ]
0 200 400 600 800 1000 1200 Q [I/min]
80
n - -
[%] 70 ,‘/ \“\ T 1
%r SN T 125/4.0 | |
~N I I
125/2.2 ™ 125/3.0 ||
0 200 400 600 800 1000 1200 Q [I/min]
Rotation speed =2900 min-1
Test standard : ISO 9906 Annex A
212

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS

3 series

PERFORMANCE CURVE 50 Hz
50-160/5.5 (5.5kW) — impeller diameter = 154 mm
50-160/7.5 (7.5kW) — impeller diameter = 166 mm
0 USgpm. 50 100 150 200 250 300 350
| | | | | | | |
| I I | I | I
5 0 Imp.gpm. 50 100 150 200 250 300
160
H H
[m] L 140 [ft]
40 DL S e
™ 76 |
—_ 0/7 5 120
——— \\
30 I ~. 100
76‘0
T~ /55
\\
\\ NPSH [~ 80
NS
[m] [ft]
20 10
; KU
6120
NPSH | .
I 10
2 40
10
0 200 400 600 800 1000 1200 Q [I/min]
[ I I I I I I I
0 10 20 30 40 50 60 70 Q [m3/h]
8 —
Py ——— 160/7.5+—
6 — —
—— ’_____ 160/5.5+—
4 ——
2
0 200 400 600 800 1000 1200 Q [I/min]
80
: T 1]
—T—— 160/7.5
[7] 70 — — —
== 160/5.5 | |
=
60 e~
50
0 200 400 600 800 1000 1200 Q [I/min]
Rotation speed =2900 min-1
Test standard : 1ISO 9906 Annex A
213

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS 3 Serles

PERFORMANCE CURVE 50 Hz

50-200/9.2 (9.2kW) — impeller diameter = 191 mm
50-200/11 (11kW) —impeller diameter = 200 mm
50-200/15 (15kW) — impeller diameter = 224 mm

0 USgpm. 50 100 150 200 250 300 350
| | | | | | | |
| I | I | [ |
0 Imp.gp.m. 50 100 150 200 250 300
80 - 260
H 240 H
T TTrTT—r——t-l 20 ft
[m] 70 ———<00/15 [ft]
- 220
[~
e~
60|—— — - 200
— T ™~
2001 - 180
— ] \ j‘\
. 2
50 ——<00/9 » ~ - 160
\\ N
NPSH |-140
40 ‘\\ [m] [ft]
8-, 120
62 00
30 —— 418
NPSH — L
20
0 200 400 600 800 1000 1200 Q [I/min]
[ I I [ I I I I I
0 10 20 30 40 50 60 70 Q [m3/h]
18 —
200/154
12 —— 200/11
L — 200/9.2
6 —T | ||
0 200 400 600 800 1000 1200 Q [I/min]
80 |
n = —
[%] 70 e — ~
p—
200/9.2 2 ///' —
60 200/11-F——=
200/15
| |
50 ,
0 200 400 600 800 1000 1200 Q [I/min]

Rotation speed =2900 min-1
Test standard : ISO 9906 Annex A

214

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



3 series

CENTRIFUGAL PUMPS

PERFORMANCE CURVE 50 Hz
65-125/4 (4.0kW) — impeller diameter = 128 mm
65-125/5.5 (5.5kW) — impeller diameter = 138 mm
65-125/7.5 (7.5kW) — impeller diameter = 149 mm
0 U.S.g.p.m. 100 200 300 400 500 600 700
| | | | | | | |
| I I I I | I
" 0 Impgpm. 100 200 300 400 500 600
120
H H
[m] [ft]
10 T~ 100
N
———1 g
= \\\72\5/25 &
L N
I~ iy ~N ‘ N
20 = 7
~
N \2%5 NS 60
~ N
NG
B 2‘5/%0 ™S ™ NPSH
N [m] [ft] [40
10 RS ™S 3
\\ 8
6——20 -20
NPSH L~ )
T 10
2
0 0
0 400 800 1200 1600 2000 2400 Q [I/min]
[ I I I I I | I I
0 20 40 60 80 100 120 140 Q [m3/h]
8 L —
Py — 125/7.5
6 | ]
[kw) — P
) —— ]25/5.5
_— T
- 125/4.0
2 i | |
0 400 800 1200 1600 2000 2400 Q [I/min]
80
n ot
[%] 70 . ~
N
\, N
’ 125740 NN NI/
. 125/40 N[N 125/55
I |
0 400 800 1200 1600 2000 2400 Q [I/min]

Rotation speed =2900 min-1
Test standard : ISO 9906 Annex A

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



3 series

CENTRIFUGAL PUMPS
PERFORMANCE CURVE 50 Hz
65-160/7.5 (7.5kW) — impeller diameter = 153 mm
65-160/9.2 (9.2kW) — impeller diameter = 161 mm
65-160/11 (11kW) — impeller diameter = 168 mm
65-160/15 (15kW) — impeller diameter = 178 mm
0 US.gpm. 100 200 300 400 500 600 700
| | | | | | | |
| I I I I | I
0 Imp.gpm. 100 200 300 400 500 600
» — 160
H H
[m] 80 ~10 1
40— S is
L || ~< . 120
. ~ \% ~
TTr— 76 N 100
30 — %% 5 \\
7 N
60/75 N L 50
‘\\\ NS \\
N
NN Npsi | 60
D [m] [ft]
— 1T 620 40
10 - 5
NPSH — o
— | 310 20
2
ot
0 0
0 400 800 1200 1600 2000 2400 Q [1/min]
[ I I I | | | I I
0 20 40 60 80 100 120 140 Q [m3/h]
16 | —
P, —— 160/15
[kw] 2 T 160,/11
8 T — 160/9.2
= 160,/7.5
. = 1
0 400 800 1200 1600 2000 2400 Q [I/min]
90
n
%) 80 —
T~ 160/15
70 \\: ~—160/11
NS 160)/9.2—
6 160/7.5 177 |
|
0 400 800 1200 1600 2000 2400 Q [I/min]
Rotation speed =2900 min-1
Test standard : ISO 9906 Annex A
216

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS

3 series

PERFORMANCE CURVE 50 Hz
65-200/15 (15kW) —impeller diameter = 190 mm
65-200/18.5 (18.5kW) — impeller diameter = 201 mm
65-200/22 (22kW) —impeller diameter = 212 mm
0 U.S.g.p.m. 100 200 300 400 500 600 700
| ] ] ] ] ] | ]
| | I I I | I
0 0 Impgpm. 100 200 300 400 500 600
I g e S 220
H H
[m] = o0 [ft]
o H \\20%2 200
‘\\ N
3 2 R 180
T R 00/78 N
50 ~ NOS N
N 160
N N
\\\ \\\ —140
40 ™
N 120
N NPSH
™~ [m] [#]
30 —100
g%
NPSH 6120
. - 4 —80
10
2
20
0 400 800 1200 1600 2000 2400 Q [I/min]
[ I I I I I I I I
0 20 40 60 80 100 120 140 Q [m3/h]
24
P, —— 200/22
k] = —— 200/18.5
pu—
— — 200/15
8 — \ \
0 400 800 1200 1600 2000 2400 Q [I/min]
90
n
[%] 80 — 200/22
T~~~ 200/18.5
70 200/15
| |
0 400 800 1200 1600 2000 2400 Q [I/min]
Rotation speed =2900 min-1
Test standard : ISO 9906 Annex A
217

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS

3 series

PERFORMANCE CURVE 50 Hz
65-250/30 (30kW) — impeller diameter = 235 mm
65-250/37 (37kW) — impeller diameter = 250 mm
0 US.gpm. 100 200 300 400 500 600 700
| | | | | | | |
| I I I I | I
00 0 Impgpm. 100 200 300 400 500 600
H —300 H
[m] T T T T 05, (1]
N~
80 .
I s e, O \250‘/30 \\\\ —250
\\\ - N
\\
N
60 —200
NPSH
[m] [ft]
104 —150
30
40 8 1
//
NPSH 6120
—T 15
—— 4~ 100
10
2 s
20
0 400 800 1200 1600 2000 2400 Q [I/min]
[ I I I I I I I I
0 20 40 60 80 100 120 140 Q [m3/h]
40 T T
P2 I — = 250/37 1
— |
[kw] — T 250/30 T
20 — —
10
0 400 800 1200 1600 2000 2400 Q [I/min]
80
" — —
[~
[ 70 - - 250/37 -
%,4 250/30
80
50
0 400 800 1200 1600 2000 2400 Q [I/min]
Rotation speed =2900 min-1
Test standard : ISO 9906 Annex A
218

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS 3 Serles

PERFORMANCE CURVE 50 Hz

80-160/11 (11kW) — impeller diameter = 154 mm
80-160/13 (13kW) —impeller diameter = 160 mm
80-160/15R (15kW) — impeller diameter = 160 mm
80-160/15 (15kW) — impeller diameter = 165 mm
80-160/18.5 (18.5kW) — impeller diameter = 174 mm

0 US.g.p.m. 200 400 600 800 1000 1200
| | | | | | |
[ | | [ | [
0 Imp.g.p.m. 200 400 600 800 1000
%0 —160
H H
[m] 140 1)
40 =
~ 7 120
S ~L5015,;
'—\
=4 S
304———t— - 760/75 100
~~ ~_7sy L
~ /73/75/9 ~ N\ - 80
\\ 760/7 \\ \
20 7 N
N
N \\1 — 60
N B NPSH
[m] [ft]| 49
10 10
30
NPSH 8
| — — 6 20|20
4_
510
0 0
0 1000 2000 3000 4000 Q [1/min]
[ I | I I I 1
0 50 100 150 200 250 Q [m3/h]
20
. —1 160/18.5
2 |1 |
[kw] '6 — 160/15
" — | — 160/13/15R
’/’ | |
. ——= 160/11
8 L L
0 1000 2000 3000 4000 Q [I/min]
n
%] 80 — I~
[ SRS §> 160/15~ | | | |
70 N AN 16(‘) /185
160/11\*160/13/15R | "
60 — —
0 1000 2000 3000 4000 Q [1/min]

Rotation speed =2900 min-1
Test standard : ISO 9906 Annex A

219

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS

3 series

PERFORMANCE CURVE 50 Hz
80-200/22 (22kW) — impeller diameter = 196 mm
80-200/30 (30kW) — impeller diameter = 211 mm
80-200/37 (37kW) — impeller diameter = 219 mm
0 USgpm. 200 400 600 800 1000 1200
| | | | | |
| I I I I |
" 0 Imp.g.p.m. 200 400 600 800 1000
250
H H
[m] L [ft]
T
- - 200
60 e | 200/37
200
R D
SN0
40 %25 S
\\ \\\
N 100
N NPSH
[m] [ft]
20 8 5
—1 6—— 20 - 50
NPSH - s
T =10
25
0 0
0 1000 2000 3000 4000 'Q [1/min]
[ I | | I | ]
0 50 100 150 200 250 Q [m3/h]
40 —
Py — 200/37
[iw] — e 200/30
2 —_— 200/22
I |
10 |
0 1000 2000 3000 4000 Q [I/min]
90
n
[%] 80
A N | 200/37
Z N~
70 77 N 200/30
# 200/22 S
60 | | | ‘ ‘
0 1000 2000 3000 4000 Q [I/min]
Rotation speed =2900 min-1
Test standard : ISO 9906 Annex A
220

Jorg Kriiger GmbH - Ennsstr. 17 -

47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



3 series

CENTRIFUGAL PUMPS

PERFORMANCE CURVE 50 Hz
80-250/37 (37kW) — impeller diameter = 230 mm
80-250/45 (45kW) — impeller diameter = 245 mm
80-250/55 (55kW) — impeller diameter = 259 mm
0 USgpm. 200 400 600 800 1000 1200
| | | | | | |
| I I I I |
0 Imp.g.p.m. 200 400 600 800 1000
100
! - —'—"\\\ 25 - 300
) i = .
80 ——
<50 | N - 250
[ O s e, S s \\
‘ N \\
2 1
60 a 50/3) NG AN - 200
N \\
N \\
\\\ \\1 150
40 N
NPSH [~100
[m] [ft]
20 812
NPSH = 62050
— 41
p—
- 10
25
0 0
0 1000 2000 3000 4000 Q [1/min]
[ I I I I | ]
0 50 100 150 200 250 Q [m¥/h]
70 —
P2 250/55
[u] L 250/45
30 E:__ — 250/37
0 1000 2000 3000 4000 Q [1/min]
80
[%] 70 ,f/ NN N
7z~ N 250,/55
60 / \\ \\ T
250/37 —250/45
50 | | | | I |
0 1000 2000 3000 4000 Q [1/min]
Rotation speed =2900 min-1
Test standard : ISO 9906 Annex A
221

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS 3 SerieS
CONSTRUCTIONS 3()M 32, 40, 50, 65 50 Hz

14
0
|-
1 — 93
T =5 101

LI
\ /!

25 200 11 3 18 92 19 22 42 20 13
UPTO 11 kW

15 kW AND ABOVE

300

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS

3 series

CONSTRUCTIONS 3()'\/' 32, 40, 50, 065

50 Hz

MATERIAL DIMENSIONS STANDARD N. FOR
N° PART NAME
3M 3LM 1 UNIT
001 |Casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
003 |Motor bracket Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
006 |Shaft with rotor-Part in contact with liquid EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
007 |Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
Carbon/Ceramic/NBR
011 |Mechanical seal Carbon/Ceramic/FPM (H option) SiC/SiC/IFPM See p. 321-325 1
SiC/SiC/FPM (HS option)
012 |Motor frame with stator 1
013 |Motor cover Aluminium 1
014 |Fan Poliammide 1
015 |Fan cover Fe P04 Zinc-coated 1
016 |Terminal - 1
017 |Terminal box cover Aluminium (three phase version) 1
018 |Splash ring [Up to 11 kw NBR / 40x21.5x3 EBARA DRAWING w
|15 kw and above 50x29.5%3
019 |Bearing See table p.319 1
020 |Bearing - See table p.319 1
021 |Adjusting ring Steel C70 1
Up to 3 kW M5
Tie rod For4-55-7.5kw Fe 42 Zinc-coated M6 EBARA DRAWING
022 9.2 e 11kW M8 4
Screw 15 kW and above Zn. Steel 8.8 strenght class 1ISO 898-1 M10x40 UNI 5739
25 |Draing plug EN 1.4401 (AISI 316) / PTFE R 1/8"L=8 DIN 906 1
32-125, 40-125 158.11x5.34 OR 6625
026 |"0" ring 32-160, 40-160, 50-125, 65-160 NBR . EPM 183.52x5.34 OR 6720 1
32-200, 40-200,50-160, FPM (H-HS option) 227 06x5.34. OR 6895
50-200, 65-160, 65-200 : :
032 |Key Upto 11 kW EN 1.4401 (AISI 316) A 6x6x25 UNI 6604 1
15 kW and above A 8x7x30
Up to 11kW M16x1.5
034 |Impeller nut 50-200/15 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) M18x1.5 UNI 7474 1
15 kW and above M20x1.5
042 |Foot Aluminium / Zinc-coated steel EBARA DRAWING 2]
056 |Box gasket NBR 1
058 |Fasting nut [3]
072 |Casing ring [4] EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
073 |Casing ring EN 1.4301 (AISI 304) EN 1.4404 (AIS| 316L) 1
Up to 3kw 25x40x7
092 |Lip seal From 4 to 7.5 kW ~ 30x47X7 DIN 3760 1
From 9.2 kW to 11 kW 40x55x7 without spring
From 15 kW to 22 kW 45x60x7
Up to 4 kW 25x40x7
093 |Lip seal From 5.5 kW' to 7.5 kW ~ 30x47X7 ‘DIN 3769 1
From 9.2 kW to 11 kW 40x55x7 without spring
From 15 kW to 22 kW 45x60x7
101 |Snap ring (only 9.2 and 11kW) Carbon tool steels TC 80 @40 UNI 7435 1
32-125, 40-125 M 8x30 UNI 5739 8
200 |Screw - - - - Stainless steel A2 70 class ISO 3506/1
50.200.55.125 68 460, 65200 M 10635 un 5739 5
206 |Screw for bracket [6] Zn. Steel 8.8 strenght class ISO 898-1 M 10x40 UNI 5739 4
244 |Pin [7] - ‘ EN 1.4301 (AISI 304) 4x15 1

Counterflange kit on request, see table p. 328-329

[1] Not for L version
[2] N° for 1 unit=0 for 65-160/15

N¢ for 1 unit=1 for 32-40-50 and 65 up to 11kW
N° for 1 unit=2 for 65-200/15, 65-200/18.5, 65-200/22

[3] N° for 1 unit=1 up to 11kW
N° for 1 unit=2 from 15kW to 22kW

[4] For version 32-200/3, 32-200/4, 32-200/5.5, 40-200/5.5, 40-200/7.5, 40-200/11, 50-160/5.5,

50-160/7.5, 50-200/9.2, 50-200/11, 50-200/15
[5] N° for 1 unit=10 for 32-160, 40-160, 50-125, 65-125
Ne for 1 unit=12 for 32-200, 40-200, 50-160, 50-200, 65-160, 65-200

[6] For 15kW and above
[7] Only for 65-160/15 and 65-200

301

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS 3 Serles

CONSTRUCTIONS 3 L M 80'160 50 Hz

75 24 77

™
—
~
o
({o]
-
o
(00)
1
—
—
~
o
({o]
Y
N o
- (00)
*
-—
ot >
—
N
~ &
o
[Ze] N
N
\ N
N
N
*
S
N
8 | \
= 5
! (2]
[ /N
(2]
~ /—92
[
*
e . s
++ <
/ NN
" L a3
I . 2
)
N
~

1 34 32 11

302

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS 3 Serles

CONSTRUCTIONS 3 L M 80'160 50 Hz

~
~
< L
N (o0}
0 d
= 3
M
o
(e 0]
1
Lo
—
~
o
- ©
S b
T3 2 ©
\/_N
v 2}
- o
3 S
/—
m o
- | —«
N N
- | N
N
/—co
L —1
,/
© 4
7o)
o))
‘,: /_‘_
N
/—m
© )
— <
=)
b3 A7 28
© 0
o e
N N
© =
M <
©
+ ©
oN Te)
) || N
~ —

303

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS

3 series

CONSTRUCTIONS 3 L M 80' 160

50 Hz

N° PART NAME MATERIAL DIMENSIONS STANDARD N. FOR
1 UNIT
001 |Casing EN 1.4401 (AISI 316) 1
003 |Motor bracket Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4404 (AISI 316L) 1
006 |Shaft with rotor EN 1.4404(AISI 316L) -Part in contact with liquid 1
007 |Impeller EN 1.4401 (AISI 316) 1
SiC/SiC/FPM
011 |Mechanical seal Ceramic/Carbon/FPM (H option) See p. 321-325 1
SiC/Carbon/EPDM (E option)
012 |Motor frame with stator - 1
013 |Motor cover Aluminium 1
014 |Fan Poliammide 1
015 |Fan cover Fe P04 Zinc-coated 1
016 |Terminal - 1
017 |Terminal box cover Aluminium 1
018 |Splash ring NBR 50x29.5x3 EPE DRAWING 1
019 |Bearing - See table p. 319 1
020 |Bearing - See table p. 319 1
021 |Adjusting ring Steel C70 1
022 |Screw Zn. Steel 8.8 strenght class ISO 898/1 EPE DRAWING 4
024 |Plug EN 1.4404 (AISI 316L) G 3/8 EPE DRAWING 1
025 |Plug EN 1.4404 (AISI 316L) G 3/8 EPE DRAWING 1
026 |"O"ring FPM 227.96x5.34 OR 6895 1
032 |Key EN 1.4404 (AISI 316L) 8x7x30 UNI 6604 1
034 |Impeller nut Aluminium M20x1.5 UNI 7474 1
042 |Foot Aluminium EPE DRAWING [1]
056 |Box gasket NBR 1
058 |Fasting nut - [2]
075 |Washer (plug) EN 1.4404 (AIS| 316L) 1
076 |Washer (plug) 1
077 |O-ring (plug) FPM 1
078 |O-ring (plug) EPDM (E option) 1
. 11 - 13 kW 40x55x7 DIN 3760 1
092 Lip seal - . X
15 - 18.5 kW 45x60x7 without spring 1
. 11 - 13 kW 40x55x7 DIN 3760 1
093 Lip seal - X X
15 - 18.5 kW 45x60x7 without spring 1
101 |[Snap ring (only 11 - 13 kW) Carbon tool steels TC 80 @40 UNI 7435 1
200 |Screw Stainless steel A2-70 class ISO 3506/1 M 10x35 UNI 5739 10
200A |Screw M 10x30 2
201 |Screw - 13 kw Stainless steel A2-70 class 1SO 3506/1 M 6x40 UNI 5739 1
15 - 18.5 kW M 12x40 4
206 |Screw for bracket (only 15 - 18.5 kW) Zincked steel 8.8 strenght class ISO 898/1 M 10x40 UNI 5739 4
220 |Nut for tie rod (only 11 - 13 kW) Zincked steel M10 4
230 |Washer 1 -13kw e . . .
15 - 18.5 kW Zincked steel 13x24x2.5 UNI 6592 4
235 |Washer EN 1.4301(AISI 304) 10.5 UNI 8842 12
244 |Pin [3] EN 1.4301(AISI 304) 4x15 1

Counterflange kit on request, see p. 328-329

[1] N° for 1 unit=1 for version 80-160/11 and 80-160/13
N° for 1 unit=2 for version 80-160/15 and 80-160/18.5
[2] N° for 1 unit=1 for version 80-160/11 and 80-160/13
N° for 1 unit=2 for version 80-160/15 and 80-16018.5
[3] Not for H and E version

304

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS 3 SerieS
CONSTRUCTIONS 3()8 32, 40, 50 50 Hz

T o]
L Eft[ jHRT

Uﬂﬂﬂﬂij | ] |

nnnnnanann

_l C
ixg\ \ﬁ‘ uuuuluuuuUy .
. |
1

| ] — ] |

____J
|

L]
? |

;.
|

73 34 32 25 200 72 6 42 12

305

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS

3 series

CONSTRUCTIONS 3()8 65

50 Hz

SA

206-2

—
700000000000
nnnnnanannnnn

_E<'_ _______

1
yuuuuuuuuuuuu
0000000000000

306

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS

3 series

CONSTRUCTIONS 3()8 32, 40, 50, 65

50 Hz

MATERIAL DIMENSIONS STANDARD | N. FOR
N° PART NAME
3s 3Ls 1UNIT
001 |Casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
003 |Motor bracket Cast iron EN-GJL-200-EN 1561 1
003A |Adapter ring [1] Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
006 |Coupling - Part in contact with liquid EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) See table p. 326 1
007 |Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
Carbon/Ceramic/NBR
011 |Mechanical seal Carbon/Ceramic/FPM (H option) SiC/SiC/IFPM See p. 321-325 1
SiC/Sic/FPM (HS option)

012 |Motor - 1
025 |Draing plug EN 1.4401 (AISI 316) / PTFE R 1/8"L=8 DIN 906 1

32-125, 40-125 158.11x5.34 OR 6625
026 |"0" ring Zéigg 40-160, 50-125, NBR EPM 183.52x5.34 OR 6720 1

32-200, 40-200,50-160, FPM (version H and HS)

50-200, 65-160, 65-200 227.96x5.34 OR 6895
032 |Key Up to 11 kW EN 1.4401 (AISI 316) 6x6x25 UNI 6604 1

15 kW and above 8x7x30

Up to 11kwW M16x1.5
034 |Impeller nut 50-200/15 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) M18x1.5 UNI 7474 1

15 kW and above M20x1.5
042 |Foot Aluminium / Zinc-coated steel 2]
044 |Protection EN 1.4301 (AISI 304) EBARA DRAWING 1
072 |Casing ring [3] EN 1.4301 (AISI 304) ‘ EN 1.4404 (AISI 316L) 1
073 |Casing ring (not for 65 version) EN 1.4301 (AISI 304) ‘ EN 1.4404 (AISI 316L) 1

32-125, 40-125 M 8x30 UNI 5739 8
200 |Screw 40-160, 40-200, 50-125, 50-160, Stainless steel A2 70 class 1SO 3506/1

50-200, 65-125, 65-160, 65-200 M 10x35 UNI5739 “
201 |Screw Zn. Steel 8.8 strenght class 1SO 898/1 M 10x16 UNI 5739 [5]
206 |Screw for bracket Zn. Steel 8.8 strenght class I1SO 898/1 M 10x40 UNI 5739 4

206-2 | Screw adapter ring [1] Zn. Steel 8.8 strenght class 1SO 898/1 UNI 5931 4

244 |Pin[6] EN 1.4301 (AISI 304) UNI 5931 4

Counterflange kit on request see p. 328-329

[1] Only for version 65-125/5.5 and 65-125/7.5

[2] N° for 1 unit=0 for version 65-200/22

N° for 1 unit=1 for version for 32, 40, 50, 65-125/5.5, 65-125/7.5, 65-160/11, 65-160/15, 65-200/15, 65-200/18.5
N° for 1 unit=2 for version for 65-125/4, 65-160/7.5, 65-160/9.2
[3] Only for version 32-200, 40-200, 50-160, 50-200
[4] N° for 1 unit=10 for 32-160, 40-160, 50-125, 65-125
N° for 1 unit=12 for 32-200, 40-200, 50-160, 50-200, 65-160, 65-200
[5] Only for version 32-125/1.1, 32-160/1.5, 32-160/1.5, 32-160/2.2, 40-125/1.5, 40-125/2.2, 50-125/2.2

[6] Only for 65-160/15, 65-200

307

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS 3 Serles

CONSTRUCTIONS 3 L S 80' 160 50 Hz

75 24 77

1
[}

12

\

© o]
=
7

|
3 \
Tm ©
" i ==
I=E! | ==/ E
- == =S
== = <
== RI==P=: g8
~N = | [ B
- =08 .
<+ B | N
. — LS~
Y
~
— [{e]
:_) = ~
H ‘ H 0
- ~

308

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS

3 series

CONSTRUCTIONS 3 L S 80' 1 60

50 Hz
N. FOR
N° PART NAME MATERIAL DIMENSIONS STANDARD
1 UNIT
001 |Casing EN 1.4401 (AISI 316) 1
003 |Motor bracket Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4404 (AISI 316L) 1
006 |Coupling EN 1.4404 (AISI 316L) See table p. 326 1
007 |Impeller EN 1.4401 (AISI 316) 1
SiC/SiC/FPM
011 |Mechanical seal Ceramic/Carbon/FPM (H option) See p. 321-325 1
Sic/Carbon/EPDM (E option)
012 |Motor - 1
024 |Plug EN 1.4404 (AISI 316L) G3/8 EPE DRAWING 1
025 |Plug EN 1.4404 (AISI 316L) G3/8 EPE DRAWING 1
o~ FPM
026 |"O"ring EPDM (E option) 227.96x5.34 OR 6895 1
032 |Key EN 1.4401 (AISI 316) 8x7x30 UNI 6604 1
034 |Impeller nut EN 1.4404 (AISI 316L) M20x1.5 UNI 7474 1
042 |Foot Aluminium EPE DRAWING 2
044 |Protection EN 1.4301 (AISI 304) EPE DRAWING 2
075 _|Washer (plug) EN 1.4404 (AISI 316L) 1
076 |Washer (plug) 1
077 |O-ring (plug) FPM 1
078 |O-ring (plug) EPDM (E option) 1
200 |Screw Stainless steel A2-70 M 10x35 UNI 5739 10
200A |Screw class ISO 3506/1 M 10x30 2
235 |Washer EN 1.4301(AISI 304) 10.5 UNI 8842 12
244 |Pin[1] EN 1.4301(AlSI 304) 4x15 1
Counterflange kit on request see p. 328-329
[1] Not for H and E version.
309

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS 3 Serles

CONSTRUCTIONS 3LS 65'250, 80 50 Hz

75 24 71

42 12

\ |

42A 235 200 244 6

L

l:t:’ll

i
25 7{ 78

1 34 7 32 4 26 4A 11 3 3A

S

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com

310




CENTRIFUGAL PUMPS

3 series

CONSTRUCTIONS 3 L S 65'250 y

80

50 Hz

N. FOR
N° PART NAME MATERIAL DIMENSIONS STANDARD
1 UNIT
3LS
001 |Casing EN 1.4401 (AISI 316) 1
003 | Motor bracket Cast iron EN-GJL-200-EN 1561 1
003A |Adapter ring Cast iron EN-GJL-200-EN 1561 [1]
004 |Casing cover EN 1.4401 (AISI 316) 1
004A | Screw for casing cover EN 1.4301(AISI 304) 2
65-250 d=24 mm EN 1.4404 (AISI 316L) for 22 kW 1
EN 1.4462 (Duplex stainless steel) for 30-37 kW 1
006 Coupling 80-200 d=24 mm EN 1.4404 (AISI 316L) for 22 kW See table p. 326 1
EN 1.4462 (Duplex stainless steel) for 30-37 kW 1
80-250 d=29 mm EN 1.4462 (Duplex stainless steel) 1
007 |Impeller EN 1.4401 (AISI 316) 1
SiC/SiC/FPM
011 |Mechanical seal Ceramic/Carbon/FPM (H option) See p. 321-325 1
Sic/Carbon/EPDM (E option)
012 |Motor - 1
024 |Plug EN 1.4404 (AISI 316L) G3/8 EPE DRAWING 1
025 |Plug EN 1.4404 (AISI 316L) G3/8 EPE DRAWING 1
. FPM
"O"rin X .
026 [¢] EPDM (E version) 253.36x5.34 OR 6995 1
65-250 1
d=24 8x7x30
032 |Key 80-200 mm EN 1.4401 (AISI 316) XX UNI 6604 1
80-250 d=29 mm 8x7x40 1
: 65-250 _ 1
034 'r:?npe”er 80-200 d=24 mm EN 1.4404 (AISI 316L) M20x1.5 UNI 7474 1
85-250 d=29 mm M24x2 1
042 | Foot for motor _ 4 Aluminium EPE DRAWING [2]
042A | Foot for pump Aluminium/zincked steel (only for 80-250/55) [3]
075 | Washer (plug) EN 1.4404 (AISI 316L) 1
076 |Washer (plug) 1
077 |O-ring (plug) FPM 1
078 | O-ring (plug) EPDM (E version) 1
200 |Screw Stainless steel A2-70 class ISO 3506/1 M 12x45 UNI 5739 10
235 |Washer EN 1.4301(AISI 304) 13 UNI 8842 10
244 |Pin [4] EN 1.4301(AISI 304) 4x12 1

Counterflange kit on request, see table p. 328-329

[1] Only for 65-250/37 , 80-200/37 , 80-250/37 — 80-250/45 and 80-250/55
[2] N° for 1 unit=2 for 80-250/55
[3] N° for 1 unit=2 for 80-200/30 , 80-200/37 , 80-250/45

for 1 unit=1 for 80-250/55

[4] Not for H and E version.

311

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS 3 Serles

CONSTRUCTIONS 3()P 32, 40, 50, 65 50 Hz

o

e W)
s 2=
: %
[
492A 50

33

67 93

42

244

72

200

25

312

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS

3 series

CONSTRUCTIONS 3()P 32, 40, 50, 65

50 Hz

MATERIAL DIMENSIONS STANDARD |N. FOR
N° PART NAME
3P 3Lp 1UNIT
001 |Casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
003 [Support Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4301 (AISI 304) ‘ EN 1.4404 (AISI 316L) 1
006 |Shaft - Part in contact with liquid EN 1.4301 (AISI 304) ‘ EN 1.4404 (AISI 316L) 1
006A |Flexible coupling Cast iron EN-GJL-250-EN 1561 See table pag. 327 1
007 |Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
Carbon/Ceramic/NBR
011  |Mechanical seal Carbon/Ceramic/FPM (H option) SiC/SiC/FPM See p. 321-325 1
SiC/SiC/FPM (E option)
012 |Motor 1
019 |Bearing See table p. 320 1
020 |Bearing - See table p. 320 1
025 |Draing plug EN 1.4401 (AISI 316) / PTFE R 1/8"L=8 DIN 906 1
32-125, 40-125 158.11x5.34 OR 6625
026 |"0"ring 32-160, 40-160, 50-125, 65-125 NBR EPM 183.52x5.34 OR 6720 1
32-200, 40-200, 50-160, FPM (version H and HS) 227.96x5.34 OR 6895
50-200, 65-160, 65-200
032 |Key Up 1o 11 kW EN 1.4401 (AISI 316) Ex6x25 UNI 6604 1
15 kw and above 8x7x30
033 |Key c40 8X7x40 UNI 6604 1
Up to 11kW M16x1.5
034  |Impeller nut 50-200/15 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) M18x1.5 UNI 7474 1
15 kW and above M20x1.5
042 |Pump support Fe 37 Zinc-coated EBARA DRAWING 1
42A |Base Fe 37 Zinc-coated 1
044  |Protection Fe 37 Zinc-coated 1
050 |Foot Aluminium / Zinc-coated steel 1
058 |Fasting nut B 1
066 |Impeller side bearing cover Cast iron EN-GJL-200-EN 1561 1
067 |Motor side bearing cover Cast iron EN-GJL-200-EN 1561 1
072 |Casing ring [1] EN 1.4301 (AISI 304) \ EN 1.4404 (AISI 316L) 1
073 |Casing ring (not for 65 version) EN 1.4301 (AISI 304) ‘ EN 1.4404 (AISI 316L) 1
092 |"V"ring - VS - 0030 1
093 |"V"ring VS - 0030 1
32-125, 40-125 M 8x30 UNI 5739 8
200 |Screw 40-160, 40-200, 50-125, 50-160, Stainless steel A2 70 class ISO 3506/1
50-200, 65-125, 65-160, 65-200 M 10x35 UNI5739 @
244 |Pin [3] / EN 1.4301 (AISI 304) 4x15 1

Counterflange kit on request see p. 328-329

[1] For version: 32-200/3, 32-200/4, 32-200/5.5, 40-200/5.5, 40-200/5.5, 40-200/7.5, 40-200/11, 50-160/5.5, 50-1607.5,
50-200/9.2, 50-200/11, 50-200/15
[2] N° for 1 unit=10 for 32-160, 40-160, 50-125, 65-125
N° for 1 unit=12 for 32-200, 40-200, 50-160, 50-200, 65-160, 65-200

[3] Only for 65-160/15 and 65-200

313

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS 3 Serles
CONSTRUCTIONS 3L P 80'160 50 Hz

7% 24 77

42

3 6 20 67 93

11 244

200
200A

66 92 89 19

235

314

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS 3 Serles
CONSTRUCTIONS 3L P 65'250, 80 50 Hz

3
: <
~ +
© [ ‘
o | |
~ [ |
|
© :
-l | )
3 | 3
8 | =
o | I
° o 8
< ‘
&Y 9
- ~

315

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS 3 Serles

CONSTRUCTIONS 3L P 65'250, 80 50 Hz

316

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS

3 series

CONSTRUCTIONS 3 L P 80' 160

50 Hz

N° PART NAME MATERIAL DIMENSIONS STANDARD N. FOR
1 UNIT
001 |Casing EN 1.4401 (AISI316) 1
003 |Support Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4404 (AISI316L) 1
006 |[Shaft EN 1.4404 (AISI316L)-Part in contact with liquid 1
006A |Flexible coupling Cast iron EN-GJL-250-EN 1561 See table p. 327 1
007 |Impeller EN 1.4401 (AISI316) 1
SiC/SiC/FPM
011 |Mechanical seal Ceramic/Carbon/FPM (H option) See p. 321-325 1
Sic/Carbon/EPDM (E ption)
012 |Motor - 1
019 |Bearing - See table p. 320 1
020 |Bearing - See table p. 320 1
024 |Plug EN 1.4404 (AISI316L) G3/8 EPE DRAWING 1
025 |Plug EN 1.4404 (AISI316L) G3/8 EPE DRAWING 1
O FPM
026 |"O"ring EPDM (E option) 227.96x5.34 OR 6895 1
032 |Key EN 1.4401 (AISI 316) 8x7x30 UNI 6604 1
033 |Key C 40 8x7x40 1
034 |Impeller nut EN 1.4404 (AISI 316L) M20x1.5 UNI 7474 1
042 |Pump support Zincked steel EPE DRAWING 1
042A |Base Zincked steel EPE DRAWING 1
044 |Protection Zincked steel EPE DRAWING 1
050 |Foot Aluminium EPE DRAWING 2
050A |Spacer for pump / /
050B |Spacer for pump / /
050C |spacer for protection / /
066 |Impeller side bearing cover Cast iron EN-GJL-200-EN 1561 1
067 |Motor side bearing cover Cast iron EN-GJL-200-EN 1561 1
075 |Washer (plug) EN 1.4404 (AISI 316L) L
076 |Washer (plug) 1
077 |O-ring (plug) FPM 1
078 |O-ring (plug) EPDM (E option) 1
089 |Snapring Carbon tool steels TC 80 @ 40 UNI 7435 1
092 |'V* r!ng - VS-0030 L
093 |"V"ring 1
200 |Screw Stainless steel A2 70 class 1SO 3506/1 M 10x35 UNI 5739 10
200A |Screw M 10x30 2
235 |Washer EN 1.4301(AISI 304) 10.5 UNI 8842 12
244 |Pin [1] EN 1.4301(AISI 304) 4x15 UNI 6873 1

Counterflange kit on request, see table p. 328-329

[1] Not for H and E option.

For drawing see p.314-316

317

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS

3 series

CONSTRUCTIONS 3LP 65'250, 80

50 Hz

N° PART NAME MATERIAL DIMENSIONS STANDARD N. FOR
1 UNIT
001 |Casing EN 1.4401 (AISI316) 1
003 | Support Cast iron EN-GJL-200-EN 1561 1
004 | Casing cover EN 1.4401 (AISI316) 1
004A | Screw for casing cover EN 1.4301 (AISI 304) 2
006 |Shaft EN 1.4462 (Duplex stainless steel)-Part in contact with liquid 1
006A | Flexible coupling Cast iron EN-GJL-250-EN 1561 See table p. 327 1
007 |Impeller EN 1.4401 (AISI316) 1
SiC/SiC/FPM
011 |Mechanical seal Ceramic/Carbon/FPM (H option) See p. 321-325 1
Sic/Carbon/EPDM (E option)
012 | Motor - 1
019 |Bearing See table p. 320 1
020 |Bearing - See table p. 320 1
024 |Plug EN 1.4404 (AISI316L) G3/8 1
025 |Plug EN 1.4404 (AISI316L) G3/8 1
. FPM
026 |"O"ring EPDM (E version) 253.36x5.34 OR 6995 1
65-25( 1
032 |Key go-20q 9724MM EN 1.4401 (AISI 316) 8x7x30 UNI 6604 1
80-25 d=29 mm 8x7x40 1
033 |Key C 40 10x8x60 UNI 6604 1
. 65-25 1
04 |Impeller go-20q 4724Mm EN 1.4404 (AISI 316L) M20x1.5 UNI 7474 1
nut —
80-250  d=29 mm M24x2 1
042 | Pump support Zincked steel 1
042A |Base Zincked steel 1
044 | Protection Zincked steel 1
050 |Foot (only for 65-250/22kW) Aluminium 2
050A | Spacer Aluminium 1]
050B |Spacer Aluminium [2]
050C | Spacer for protection Aluminium 3]
066 |Impeller side bearing cover Cast iron EN-GJL-200-EN 1561 1
067 | Motor side bearing cover Cast iron EN-GJL-200-EN 1561 1
075 | Washer (plug) EN 1.4404 (AISI 316L) L
076 |Washer (plug) 1
077 |O-ring (plug) FPM 1
078 |O-ring (plug) EPDM (E version) 1
089 |Snap ring Carbon tool steels TC 80 @50 UNI 7435 1
092 |"V" r!ng VS-0040 1
093 |"V"ring 1
200 |Screw Stainless steel A2 70 class I1SO 3506/1 M 12x45 UNI 5739 10
235 |Washer EN 1.4301 (AISI 304) 13 UNI 8842 10
244 |Pin [3] EN 1.4301 (AISI 304) 4x12 UNI 6873 1

Counterflange kit on request, see table p. 328-329

[1] N° for 1 unit=0 for 65-250, 80-200/22 and 80-250/55
Ne° for 1 unit=2 for 80-200/30, 80-200/37 and 80-250/45

[2] N° for 1 unit=0 for 65-250, 80-200/22 and 80-250/55
N° for 1 unit=2 for 80-200/30, 80-200/37 and 80-250/45

[3] Not for H and E option.

For drawing see p.308-309

318

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS

3 series

CONSTRUCTIONS 50 Hz
Type pumps Ball bearing Type pumps Ball bearing
Single Phase Three Phase Pump side Fan side Three Phase Pump side Fan side
50 Hz 50 Hz 50 Hz
3()M 32-125/L.1 M | 3()M 32-125/1.1 3()S 32-125/1.1 | 620422 C3 | 620422 C3
3()M32-160/15 M | 3OM32-160/L5 | oo (oo o 30083216015 | o | eooe oo o
3()M 32-160/2.2 M | 3()M 32-160/2.2 6205-SRSH C3 3()S 32-160/2.2
3()M 32-200/3 3()S 32-200/3 6206-2Z C3 | 6206-2Z C3
) 3()M 32-200/4 | 6206-2RS1 C3 3(.)S 32-200/4 6306-2Z C3 | 6306-2Z C3
(M 3220055 | ¢306 5rS1 C3| 6206-2RS1 C3 8()S 82-20055 | 60557 c3 | 6208-22 C3
3()M 32-200/7.5 3()S 32-200/7.5
3()M40-125/1.5M | 3(.)M 40-125/1.5 30084012515 | o | e oo o
3()M40-125/22 M | 3()M40-125/2.2 | 6205-SRSHC3| o oo o 3()S 40-125/2.2
3(.)M 40-160/3 3()S 40-160/3 6206-2Z C3 | 6206-2Z C3
3()M 40-160/4 | 6206-2RS1 C3 3(.)S 40-160/4 6306-2Z C3 | 6306-2Z C3
) (M 4020055 | ¢o06 5rs1 €3 | 6206-2RS1 C3 3()S 40-2005.5 | o0 57 3 | 6208-22 C3
3(.)M 40-200/7.5 3()S 40-200/7.5
3()M40-200/11 | 6308-2RS1 C3 | 6208-2RS1 C3 3()S 4020011 | 6209-2Z C3 | 6209-2Z C3
3(M50-12522 M | 3OM 50126222 | oo o 3()S50-125/2.2 | 6205-2Z C3 | 6205-2Z C3
3()M 50-125/3 6205-SRSH C3 3()S 50-125/3 6206-2Z C3 | 6206-2Z C3
3()M50-125/4 | 6206-2RS1 C3 3()S 50-125/4 6306-2Z C3 | 6306-2Z C3
S(M50-160/5.5 | o5 ops1 C3 | 6206-2RS1 C3 3()S 50-160/5.5
3()M 50-160/7.5 3()S50-160/7.5 | 6208-2Z C3 | 6208-2Z C3
DI | s onrn| | [122008
AR )3 5 6209-2Z C3 | 6209-2Z C3
3()M 50-200/15 | 6309-2RS1 C3 | 6309-2RS1 C3 3()S 50-200/15
3()M 65-125/4 | 6206-2RS1 C3 | 6205-SRSH C3 3()S 65-125/4 6306-2Z C3 | 6306-2Z C3
3()M 65-125/5.5 3()S 65-125/5.5
M 65-125/7.5 | 6306-2RS1 C3 | 6206-2RS1 C3 -
3()M 65-125/7.5 30086512575 | oo o | eo0m07 o3
- 3()M 65-160/7.5 3()S 65-160/7.5
8()M65-16019.2_| ¢a0g 5rs1 C3 | 6208-2RS1 C3 3()S 65-160/9.2
3(.)M 65-160/11 3()S 65-160/11
3()M 65-160/15 )S 65-
3( )M o5 200115 3()S 65 160; 15 I 620927 c3 | 6209-27 C3
()M 65- 6309-2RS1 C3 | 6309-2RS1 C3 3()S 65-200/15
3(.)M 65-200/18.5 3()S 65-200/18.5
3()M 65-200/22 3()S 65-200/22 | 6310-2Z C3 | 6310-2Z C3
3LM 80-160/11 3LS 65-250/30
6308-2RS1 C3 | 6208-2RS1 C3 6312-2Z | 6312-2Z
3LM 80-160/13 3LS 65-250/37
z::m 28'128; i: ;| 6309-2Rs1 3| 6309-2RS1 C3 2'—5 80-160/11
' LS 80-160115R | ¢509.07 ¢3 | 6209-22 C3
3LS 80-160/15
3LS 80-160/18.5
3LS 80-200/22 6310-2Z C3 | 6310-2Z C3
3LS 80-200/30
3LS 80-200/37 6312-2Z | 6312-27
3LS 80-250/37
3LS 80-250/45 631322 | 631322
3LS 80-250/55 6314 6314 |1

1) Motor available with lubrificator for regular re-greasing of bearing.

319

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



3 series

CENTRIFUGAL PUMPS

CONSTRUCTIONS: BALL BEARING 50 Hz
Type pumps Ball bearing
Three Phase Pump Motor
50 Hz Pump side Motor side Pump side Fan side

3()P 32-125/1.1 6204-2Z C3 6204-2Z C3
3(.)P 32-160/1.5 6306-2RS1C3 | 6206-2RS1C3 | . 620527 C3
3(.)P 32-160/2.2
3(.)P 32-200/3 6206-2Z C3 6206-2Z C3
2(')'2 2;';882 5 6308-2RS1 C3 | 6306-2RS1 C3 | 030622 C3 6306-22 C3

()P 32- . 6208-2Z C3 6208-2Z C3
3()P 32-200/7.5
2(')E 3812222 6205-2Z C3 6205-2Z C3

()P 40- : 6306-2RS1 C3 | 6206-2RS1 C3
3(.)P 40-160/3 6206-2Z C3 6206-2Z C3
3(.)P 40-160/4 6306-2Z C3 6306-2Z C3
3()P 40-200/5.5 6208-2Z C3 6208-2Z C3
3(.)P 40-200/7.5 6308-2RS1 C3 | 6306-2RS1 C3
3(.)P 40-200/11 6209-2Z C3 6209-2Z C3
3(.)P 50-125/2.2 6205-2Z C3 6205-2Z C3
3(.)P 50-125/3 6306-2RS1 C3 | 6206-2RS1 C3 | 6206-2z C3 6206-2Z C3
3(.)P 50-125/4 6306-2Z C3 6306-2Z C3
3(.)P 50-160/5.5
3(.)P 50-160/7.5 6208-2Z C3 6208-2Z C3
3(.)P 50-200/9.2 6308-2RS1 C3 | 6306-2RS1 C3
3()P 50-200/11 6209-2Z C3 6209-2Z C3
3(.)P 50-200/15
3()P 65-125/4 6306-2Z C3 6306-2Z C3
3()P 65-125/5.5 6306-2RS1 C3 | 6206-2RS1 C3
3()P 65-125/7.5 6208-2Z C3 6208-2Z C3
3(.)P 65-160/7.5
3(.)P 65-160/9.2
3(.)P 65-160/11
3(.)P 65-160/15 6308-2RS1C3 | 6306-2RS1C3 | . 0 -, 620927 C3
3(.)P 65-200/15
3(.)P 65-200/18.5
3(.)P 65-200/22 6310-2Z C3 6310-2Z C3
SLP 65-250/30 6310-2RS1 C3 | 6308-2RS1 C3 6312-2Z 6312-27
3LP 65-250/37
3LP 80-160/11
SLP 80-160/15R | g308.7rs1 C3 | 6306-2RS1C3 | 6209-27 C3 6209-2Z C3
3LP 80-160/15
3LP 80-160/18.5
3LP 80-200/22 6310-2Z C3 6310-2Z C3
3LP 80-200/30

- 6312-27 6312-27

SLP_80-200/37 6310-2RS1 C3 | 6308-2RS1 C3
3LP 80-250/37
3LP 80-250/45 6313-2Z 6313-2Z
3LP 80-250/55 6314 6314 1)
1) Motor available with lubrificator for regular re-greasing of bearing.

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS

3 series

CONSTRUCTIONS

50 Hz

MECHANICAL SEAL STANDARD AND H VERSION

L1

L2

@#d3

#d1
®d2

gd4

#dS

Version

Manufacturer Reference

Manuf.

Description

Material
Description

Pump
type

d1

d2

d3

Dimensions

d4

d5

L1

L2

1
Stationary
seal ring

Material

2
Rotary
seal ring

3

rubber

4
Frame
+ spring

Standard

Roten

UNITEN 3K

X6X62V6

32-125/160/200
40-125/160/200
50-125/160/200
65-125
65-160/7.5
65-160/9.2
65-160/11

22

19

38

31

37

375

275

10

65-160/15
65-200

30

24

46

39

45

325

10

Carbon

Ceramic

NBR

EN 1.4401
(AlSI 316)

XYXY2VY

32-125/160/200
40-125/160/200
50-125/160/200
65-125
65-160/7.5
65-160/9.2
65-160/11

22

19

38

31

37

375

275

10

65-160/15
65-200
65-250
80-160/200

30

24

46

39

45

325

10

80-250

35

29

50

44

50

32.5

10

Carbon

Ceramic

FPM

EN 1.4401
(AISI 316)

321

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 -

Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS 3 Serles

CONSTRUCTIONS 50 Hz

MECHANICAL SEAL L VERSION @22

N =
Manufacturer Reference Material
1 2 3 4
Pump
Manuf. Description Ma“?”"f" type Stationary| Rotary Frame
Description . . .
seal ring | sealring | rubber + spring
32-125/160/200
40-125/160/200
50-125/160/200 EN 1.4571
Burgmann| M377GN85/22-00-R | Q1Q1VGG | 65-125 SiC SiC FPM (AIS| élGTi)
65-160/7.5
65-160/9.2
65-160/11
322

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS

3 series

CONSTRUCTIONS 50 Hz
MECHANICAL SEAL L VERSION
L
L1 L2
‘ N
nﬂ fa) L
; NZ NN\
. |
2] X '
o
& | |
- S 2 1 3 ‘ 0
gy MIt—— " 4
St ‘ | S
| |
o olle] NZ )
L__J YA i B
-l
\
Manufacturer Reference Pump Dimensions Material
type
1 2 3 4
- Material dl | d2|d3|d4 | d5 | L | L1 | L2 [Stationary| Rotary Frame
Manuf. Description - . . .
Description seal ring | sealring | rubber + spring
65-160/15
65-200 30 | 24 | 44 | 39 | 45 |425] 31 |115 EN 1.4571
Burgmann|M377GN85-R| Q1Q1VGG | 65-250 ’ ’ SiC SiC FPM (AISI élGTi)
80-160/200
80-250 35|29 | 49 | 44 | 50 [42.5| 31 115
323

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS 3 Serles

CONSTRUCTIONS 50 Hz

MECHANICAL SEAL HS VERSION @22

mmm— )
RRRLIAIN
B o RIS

sy A DN

<

@22
|
|
|
237

B 28.5 9
B 57.5 o
Manufacturer Reference Material
Pump 1 2 3 4
Manuf. Description Mate_ngl type Stanor_1ary Rota_ry Frame
Description seal ring | seal ring | rubber + spring
32-125/160/200
40-125/160/200
50-125/160/200 _ _ EN 1.4571
Burgmann| MG1S6/22-G3 | Q1Q1VGG | 65-125 SiC SiC FPM (AISI 316Ti)
65-160/7.5
65-160/9.2
65-160/11
324

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS

3 series

CONSTRUCTIONS

50 Hz

MECHANICAL SEAL HS AND E VERSION

L1 L2
; Q NN ‘
- |
S ‘ ‘
S
- 4 3 2 1 3 ‘ 5
~ - o
ASY 35 _g <
= ‘ ' S
Manufacturer Reference Dimensions Material
Version F;;JI’T;D 1 2 3 4
- Material P dl | d2 |d3 |d4 |d5 | L | L1 | L2 |Stationary| Rotary Frame
Manuf. Description . . X .
Description seal ring | seal ring rubber + spring
65-160/15 . . EN 1.4571
HS M377GNX/30-00-R | Q1Q1VGG 65-200 30 | 24 |44 | 39 | 45 |425]| 31 |115 SiC SiC FPM (AlSI 316Ti)
Burgmann 65-250
E M377GNX/35-00-R| Q1BEGG [g0-160/200 | 30 | 24 | 44 |39 |45 425/ 31 \ 15| copon | sic | EPDM (iz“sf;lss%
80-250 35 |29 |49 |44 |50 |42.5]31 |115

325

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS

3 series

CONSTRUCTIONS 3()8

50 Hz
COUPLING
L
- Set screw UNI EN ISO 4029 \
_ o o T m m
L1 |
< =2 4t — 1 ————F Y=
Motor Dimensions mm
Type pumps | kW | HP -\ gl g | a1 | d2 | d3 M L]l b h | Setscrew
32-125/1.1 1.1 1.5 80 19 22 19 33 M16x1.5 98 43 6 21.8 M6x6
32-160/1.5 1.5 2 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
32-160/2.2 2.2 3 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
32-200/3.0 3 4 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
32-200/4.0 4 5.5 112 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
32-200/5.5 55 7.5 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
32-200/7.5 7.5 10 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
40-125/1.5 1.5 2 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
40-125/2.2 2.2 3 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
40-160/3.0 3 4 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
40-160/4.0 4 55 112 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
40-200/5.5 55 7.5 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
40-200/7.5 7.5 10 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
40-200/11 11 15 160 19 22 42 63 M16x1.5 178 | 114 12 45.3 M8x8
50-125/2.2 2.2 3 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
50-125/3.0 3 4 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
50-125/4.0 4 55 112 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
50-160/5.5 55 7.5 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
50-160/7.5 7.5 10 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
50-200/9.2 9.2 12.5 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
50-200/11 11 15 160 19 22 42 63 M16x1.5 178 | 114 12 45.3 M8x8
50-200/15 15 20 160 22 22 42 63 M18x1.5 209 | 114 12 45.3 M8x8
65-125/4.0 4 55 112 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
65-125/5.5 55 7.5 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
65-125/7.5 7.5 10 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
65-160/7.5 7.5 10 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
65-160/9.2 9.2 125 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
65-160/11 11 15 160 19 22 42 63 M16x1.5 178 | 114 12 45.3 M8x8
65-160/15 15 20 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
65-200/15 15 20 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
65-200/18.5 18.5 25 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
65-200/22 22 30 180 24 30 48 72 M20x1.5 184 | 114 14 51.8 M10x10
65-250/30 30 40 200 24 30 55 85 M20x1.5 184 | 114 16 59.3 M12x12
65-250/37 37 50 200 24 30 55 85 M20x1.5 184 | 114 16 59.3 M12x12
80-160/11 11 15 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
80-160/15R 15 20 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
80-160/15 15 20 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
80-160/18.5 18.5 25 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
80-200/22 22 30 180 24 30 48 72 M20x1.5 184 | 114 14 51.8 M10x10
80-200/30 30 40 200 24 30 55 85 M20x1.5 184 | 114 16 59.3 M12x12
80-200/37 37 50 200 24 30 55 85 M20x1.5 184 | 114 16 59.3 M12x12
80-250/37 37 50 200 29 35 55 85 M24x2 206 | 114 16 59.3 M12x12
80-250/45 45 60 225 29 35 55 85 M24x2 206 | 114 16 59.3 M12x12
80-250/55 55 75 250 29 35 60 89 M24x2 218 | 144 18 64.4 M12x12
326

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS 3 Serles

CONSTRUCTIONS 3() P 50 Hz

FLEXIBLE COUPLING

T T 9
PUMP SIDE PUMP SIDE MOTOR SIDE MOTOR SIDE
Motor Dimensions mm
Typepumps | KW | HP gl g | ba | hl | d2 | b2 | he
32-125/1.1 11 15 80 24 8 27.3 19 6 21.8
32-160/1.5 1.5 2 90 24 8 27.3 24 8 27.3
32-160/2.2 2.2 3 90 24 8 27.3 24 8 27.3
32-200/3.0 3 4 100 24 8 27.3 28 8 313
32-200/4.0 4 5.5 112 24 8 27.3 28 8 31.3
32-200/5.5 5.5 75 132 24 8 27.3 38 10 41.3
32-200/7.5 75 10 132 24 8 27.3 38 10 41.3
40-125/1.5 1.5 2 90 24 8 27.3 24 8 27.3
40-125/2.2 2.2 3 90 24 8 27.3 24 8 27.3
40-160/3.0 3 4 100 24 8 27.3 28 8 313
40-160/4.0 4 5.5 112 24 8 27.3 28 8 313
40-200/5.5 5.5 7.5 132 24 8 27.3 38 10 41.3
40-200/7.5 75 10 132 24 8 27.3 38 10 41.3
40-200/11 11 15 160 24 8 27.3 42 12 45.3
50-125/2.2 2.2 3 90 24 8 27.3 24 8 27.3
50-125/3.0 3 4 100 24 8 27.3 28 8 31.3
50-125/4.0 4 5.5 112 24 8 27.3 28 8 313
50-160/5.5 55 75 132 24 8 27.3 38 10 41.3
50-160/7.5 75 10 132 24 8 27.3 38 10 41.3
50-200/9.2 9.2 12.5 132 24 8 27.3 38 10 41.3
50-200/11 11 15 160 24 8 27.3 42 12 45.3
50-200/15 15 20 160 24 8 27.3 42 12 45.3
65-125/4.0 4 5.5 112 24 8 27.3 28 8 31.3
65-125/5.5 55 7.5 132 24 8 27.3 38 10 41.3
65-125/7.5 75 10 132 24 8 27.3 38 10 41.3
65-160/7.5 7.5 10 132 24 8 27.3 38 10 41.3
65-160/9.2 9.2 12.5 132 24 8 27.3 38 10 41.3
65-160/11 11 15 160 24 8 27.3 42 12 45.3
65-160/15 15 20 160 24 8 27.3 42 12 45.3
65-200/15 15 20 160 24 8 27.3 42 12 45.3
65-200/18.5 18.5 25 160 24 8 27.3 42 12 45.3
65-200/22 22 30 180 24 8 27.3 48 14 51.8
65-250/30 30 40 200 32 10 35.3 55 16 59.3
65-250/37 37 50 200 32 10 35.3 55 16 59.3
80-160/11 11 15 160 24 8 27.3 42 12 45.3
80-160/15R 15 20 160 24 8 27.3 42 12 45.3
80-160/15 15 20 160 24 8 27.3 42 12 45.3
80-160/18.5 18.5 25 160 24 8 27.3 42 12 45.3
80-200/22 22 30 180 32 10 35.3 48 14 51.8
80-200/30 30 40 200 32 10 35.3 55 16 59.3
80-200/37 37 50 200 32 10 35.3 55 16 59.3
80-250/37 37 50 200 32 10 35.3 55 16 59.3
80-250/45 45 60 225 32 10 35.3 55 16 59.3
80-250/55 55 75 250 32 10 35.3 60 18 64.4

327

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS 3 Serles

CONSTRUCTIONS 50 Hz

COUNTERFLANGE ZINCKED STEEL

F
E
-
— | |
31 (o ] = 1 —
g y \
L L 1
SN N* Holes 218
Counterflange Screw

DN D E F H H1 L M SN | DIMENSIONS| MATERIAL

32 /G11/4 100 | 100 | 15 | 115 | 67 50
40 |G11/2] 110 | 110 |175 |115 | 72 58
50| G2 125 | 125 | 19 15 89 70
65 |G21/2) 145 | 185 | 23 14 | 104 | 88

M16x55 Zn. Steel 8.8
strenght class

I IENFNEEN

80| G3 | 160 | 200 | 24 | 16 [117.5| 100 M16x60 IS0 898-1
100 G4 180 | 220 29 16 144 | 125
COUNTERFLANGE EN 1.4404 (AISI 316L)
E
D
SN N Holes 018 ‘ |
= )
d M
L d
F
Counterflange Screw

DN D E F H H1 L M SN [ DIMENSIONS| MATERIAL

32|G11/4 100 | 140 | 29.5| 14 66 44
40 |G11/2] 110 | 150 | 29.5| 14 71 | 50.5

50| G2 125 165| 34 16 | 83 | 63 | | MIOX® IASZJ&_)C(')Z?
65|G21/2 145 | 185 | 40 | 16 | 103 80
80| G3 | 160 200 | 42 | 18 | 122 92 | 8 | M16x60

328

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS

3 series

CONSTRUCTIONS 50 Hz
COUNTERFLANGE EN 1.4404 (AISI 316L) DN100
E
SN N° Holes 218 ‘ D
NI |
= | = |
I | ‘
J | L |
F 1
Counterflange Screw
DN D E F H H1 L SN | DIMENSIONS | MATERIAL
A2-70 class
100 | G4 | 180 | 220 | 35 20 150 8 M16x70 1SO 3506-1
GASKET
DN M M1
32 38 82
40 50 93
50 60 107
. 65 80 125
Th\CKWGSS 2 30 90 140
100 | 115 | 160
Material : EPDM for standard version
FPM for L version
329

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS

3 series

DIMENSIONS 3()'\/' 32, 40, 50, 65

50 Hz

oN
0 V2 7-¢18
T 7-¢18
- T «~
H e -
1 pu
y |
—
—| —| = | A *
o ol A | H
- |
E —
_I ‘% )
Fig. 1 ———
S M ol% N2 ‘
o< !
Fig. 2
25
Dimensions (mm)
Model (4] (2] ] 7] ] 7] 7] 7] H3 \%1 V2 eight
DN1| P1 | K1 | D1 |si|p|@|oN2| P2 [ K2 | D2 |s2|Fig.| H |HL |H2 |31 |4 |R [wW M [N N2 | A |B c 13 [3] [4] [kgf]
32-125/1.1 (M) 50 95 | 125 | 165 |16 | 4 - 32 75 100 | 140 |14 | 1 |252 |112 |140 |124 (141 |80 |70 |114 |140 |190 |213 |408 [219+230 - PG 13.5 M20x1.5 | 19.6
32-160/1.5 (M) 50 95 | 125 | 165 (16 | 4 - 32 75 | 100 | 140 |14 | 1 |292 |132 |160 |124 |141 |80 |70 |118 |190 [240 |254 |408 |219+230 - PG 13.5 M20x1.5 | 22.5
32-160/2.2 (M) 50 | 95 | 125 | 165 (16 | 4 | - 32 75 (100 | 140 |14 | 1 |292 |132 | 160 |124 |141 |80 |70 |118 |190 |240 |254 |408 |219+230 - PG 13.5 M20x1.5 | 24.6
32-200/3.0 50 95 | 125 | 165 (16 | 4 - 32 75 | 100 | 140 |14 | 1 |340 |160 |180 |124 - 80 |70 |119 |190 |240 |296 |433 |244+255 - PG 13.5 - 32.8
32-200/4.0 50 | 95 | 125 | 165 (16 | 4 | - 32 75 |100 | 140 |14 | 1 |340 |160 |180 |141 - 80 |70 |119 [190 |240 (296 |454 253 - PG 16 - 39.5
32-200/5.5 50 95 | 125 | 165 (16 | 4 - 32 75 | 100 | 140 |14 | 1 |340 |160 | 180 |150 - 80 |70 |119 [190 |240 |296 |475 275 PG 135 | PG 16 - 48.5
32-200/7.5 50 | 95 | 125 | 165 (16 | 4 | - 32 75 [100 | 140 |14 | 1 |340 |160 |180 |150 - 80 |70 |119 [190 |240 |[296 |517 275 PG 13.5 | PG 16 - 57
40-125/1.5 (M) 65 | 115 | 145 | 185 |16 | 4 - 40 80 |110 |150 |14 | 1 |252 |112 |140 |124 (141 (80 |70 |114 |160 [210 [213 [408 P19+230 - PG 13.5 20x1.5 20.1
40-125/2.2 (M) 65 | 115 | 145 | 185 |16 | 4 - 40 80 |110 |150 |14 | 1 |252 |112 (140 |124 (141 (80 |70 |114 |160 [210 (213 (408 P19+230 - PG 13.5 20x1.5 22.7
40-160/3.0 65 | 115 | 145 | 185 |16 | 4 - 40 80 |110 |150 |14 | 1 |292 |132 |160 |124 - 80 |70 |118 |190 (240 |254 |433 [244+255 - PG 13.5 - 28
40-160/4.0 65 | 115 | 145 | 185 |16 | 4 - 40 80 |110 |150 |14 | 1 |292 |132 |160 |141 - 80 |70 |118 (190 (240 |254 |454 253 - PG 16 - 35.1
40-200/5.5 65 | 115 | 145 | 185 |16 | 4 - 40 80 |110 |150 |14 | 2 |340 |160 |180 |150 - 100 |70 (115 |212 |265 (296 |495 275 PG 135 |PG 16 - 48.8
40-200/7.5 65 | 115 | 145 (185 |16 | 4 | - 40 | 80 (110 |150 (14 | 2 |340 |160 |180 |150 - |100 |70 |115 (212 (265 |296 |537 275 PG 135 |PG16 - 56.2
40-200/11 65 | 115 |145 [185 |16 | 4 - 40 80 |110 |150 (14 |2 |[340 (160 |180 |178 - 100 |70 |115 [212 [265 [296 [594 359 PG 135 |PG21 - 67.5
50-125/2.2 (M) 65 | 115 | 145 (185 |16 | 4 | - 50 | 95 |125 |165 |16 | 2 |292 [132 |160 (124 |141 |100 |70 |114 (190 [240 (254 |428 [219+230 - PG 13.5 M20x1.5 | 28.1
50-125/3.0 65 | 115 | 145 | 185 |16 | 4 - 50 95 |125 |165 |16 | 2 |292 |132 |160 |124 - 100 |70 |114 |190 |240 (254 (453 |244+255 - PG 13.5 - 28.6
50-125/4.0 65 | 115 | 145 (185 |16 | 4 | - 50 | 95 |125 |165 |16 | 2 |292 [132 |160 |141 - |100 (70 |114 |190 |240 |254 |474 253 - PG 16 - 35.2
50-160/5.5 65 | 115 | 145 | 185 |16 | 4 - 50 95 |125 |165 |16 | 2 |340 |160 |180 |150 - 100 (70 |115 |212 |265 (296 |495 275 PG 135 |PG16 - 49.1
50-160/7.5 65 | 115 | 145 | 185 |16 | 4 50 | 95 |125 |165 |16 | 2 |340 [160 |180 |150 - |100 (70 |115 |212 |265 [296 |537 275 PG 13.5 |PG 16 - 55.5
50-200/9.2 65 | 115 | 145 | 185 |16 | 4 - 50 95 |125 |165 |16 | 2 |360 |160 |200 |178 - 100 (70 |115 |212 |265 (296 |594 359 PG 135 |PG21 - 61.7
50-200/11 65 | 115 |145 |185 |16 |4 | - 50 95 |125 |165 |16 | 2 [360 |160 |200 |178 - |100 |70 |115 |212 |[265 |296 |594 359 PG 135 |PG21 - 67.5
65-125/4 80 | 134 | 160 | 200 |18 | 8 | 4 65 | 115 |145 |[185 |16 | 2 |340 |160 |180 |141 - 100 |95 |140 |212 |280 |254 |474 253 - PG 16 - 40
65-125/5,5 80 | 134 | 160 (200 |18 | 8 |4 | 65 |115 |145 |185 |16 | 2 |340 |160 |180 |150 - |100 |95 |140 (212 |280 |254 |495 275 PG 135 | PG 16 - 52
65-125/7,5 80 | 134 | 160 | 200 |18 | 8 | 4 65 | 115 |145 |185 |16 | 2 |340 |160 |180 |150 - 100 (95 |140 |212 |280 (254 |537 275 PG 13.5 | PG 16 - 58.5
65-160/7,5 80 | 134 | 160 (200 |18 | 8 |4 | 65 |115 145 |185 |16 | 2 |360 |160 |200 |150 - |100 (95 |140 |212 |280 |296 |537 275 PG 13.5 | PG 16 - 62
65-160/9,2 80 | 134 | 160 | 200 |18 | 8 | 4 65 | 115 |145 |185 |16 | 2 |360 |160 |200 |178 - 100 (95 |140 |212 |280 (296 |594 359 PG 135 | PG 21 - 67
65-160/11 80 |134 | 160 |200 (18 | 8 |4 | 65 |115 |145 |185 |16 | 2 |360 |160 |200 |178 - |100 |95 |140 |212 |280 |296 |594 359 PG 13.5 |PG21 - 75.6
[1] Standard [2] On request [3] Only for three phase [4] Only for single phase

400

Jorg Kriiger GmbH - Ennsstr.

17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS 3 SerieS
DIMENSIONS 3()'\/' 50, 65 50 Hz

B
D2
P2
DN2 PG21 296
©
=
| g g
- || N
— T
5 5 = C
— J
= . %ﬁ -
I_ | —§ o \{\
St N A o Fig. 1 o ~|J
! [ [H : :
100 | 499.5 20 || 4-¢15 ‘
25 w L4 N1
M N2
&
3 R Z-918
2-915
I har| B
]
L Fg2 | ||
254 5
P— M _<P__
s -
| L4 | - o~
L 1 - -
4 w
Dimensions [mm]
Weight
Model o 0100 z o 121029 Fig. H | HL|H2| W | M | N1|N2| B C | L1| L2 | 3| L4 | [kdf]

DNL1 | P1| KL |D1i|S1|[1]][2] |DN2|P2]|K2| D2

50-200/15 65 | 115|145 |185| 16 | 4 50 | 95 |125|165| 2 |360 160|200 | 70 |115 |212 |265 | 723 |190.5 |254 |318 | 65 |304 96
65-160/15 80 |134|160|200| 18 | 8 4 65 |115|145|185| 2 |360 (160|200 | 95 |140|212|280 |732|199.5|254 (318 | 65 |304 93
65-200/15 80 |134|160|200| 18 | 8 4 65 |115|145|185| 1 |405|180|225| 95 (140|250 (320|732 | - |254|314| 60 [345| 114
65-200/18.5 80 |134|160|200| 18 | 8 4 65 |115|145|185| 1 |405|180|225| 95 (140|250 (320|732 | - |254|314| 60 |345| 127
65-200/22 80 |134|160|200| 18 | 8 4 65 |115|145|185| 1 |405|180|225| 95 (140|250 (320|732 | - |254|314| 60 [345| 136
[1] Standard [2] On request

401

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS

3 series

DIMENSIONS 3L M 80'160

50 Hz
80-160/11 — 80-160/13
8 200
8 135 147 173
DN8Q 2-G3/8
8-918
S R N
: ‘; g he +l _ _¢180
4-015 80 65
250
125 | 359 320
619
Pumps weight
80-160/11 : 94 kgf
80-160/13 : 97 kgf
402

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel

.2 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS

3 series

DIMENSIONS 3L M 80'160

50 Hz

80-160/15 — 80-160/18.5
% 200
9 135 147 173
DN8Q Pe21 8-g18 2-63/8

& PG21 —
| | |
m i 2 2
» i — ~ 3 % ~
NIRRT —|“ S T |
—,_ o — 3
. ® ; i
95 S s 65
125 250
125 499.5 20 320
757
345
g | . %
2-915 < <
+—— % "

Pumps weight

80-160/15 : 130 kgf

80-160/18.5 : 143 kgf

403

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS

3 series

DIMENSIONS 3()8 32, 40, 50

50 Hz

o
wn 4—9¢18
4
rl_t
y M = N
H T
— Ql[] 00
al ol & ETE — — B
- 00000
A L |
- N t u E‘ I
—,Lt 1]
Fig. 1 —_—
R C | 15
70 2-¢10
16 M
O oo
= <+| ©
Fig. 2 i N
Z
25
Dimensions [mm]
Model o | 2 | o | 2| 2| 0| 2|0 Weight
i kgf
onil 1l kil b1 lonzl P2 | ko | Do | S2|Fig| H | HL | H2|H3| R | M |NL|N2| A| B |C \%1 V2 [kgf]
32-125/1.1| 50 | 95 | 125|165| 32 | 75 | 100|140| 14 | 1 | 252|112 |140 |129 | 80 |114 |140 [190 |213 |430 |174 |M25x1.5 |M20x1.5 | 23.1
32-160/1.5| 50 | 95 | 125|165| 32 | 75 | 100|140| 14 | 1 | 292|132 |160|138| 80 | 118 | 190 | 240 | 254 | 477 | 186 | M25x1.5 | M20x1.5 | 285
32-160/2.2 | 50 | 95 | 125|165| 32 | 75 | 100|140| 14 | 1 |292| 132|160 | 138 | 80 | 118 | 190 | 240 | 254 | 477 | 186 | M25x1.5 | M20x1.5 | 32.4
40-125/1.5 | 65 | 115 | 145|185 | 40 | 80 | 110 [150 | 14 | 1 |252 |112 |140 |138 | 80 |114 |160 (210 |213 |477 [186 |M25x1.5 |M20x1.5 | 26.5
40-125/2.2 | 65 | 115 | 145 | 185 | 40 | 80 |110 |150 | 14 | 1 [252 |112 |140 |138 | 80 |114 |160 |210 |213 |477 |186 |M25x1.5 |[M20x1.5 | 29.6
50-125/2.2 | 65 | 115|145 | 185 | 50 | 95 | 125|165 | 16 | 2 |292 | 132|160 | 138 | 100 | 114 | 190 | 240 | 254 |497 |186 |M25x1.5 |M20x1.5 | 32.9

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



3 series

CENTRIFUGAL PUMPS

50 Hz

DIMENSIONS 3()8 32, 65

1sanbal uQ [¢] prepuels [t]
Ly 8¢ | 822 | 06T | 2TZ | 0LS | ¥S2 | 08Z | 2TZ | OYT | S6 | OOT | T9T | 08T | 09T |OvE| 2 | 9T |S8T |SYT|SIT| S9 | ¥ | 8 | 8T |00Z | 09T | ¥€T | 08 | O'¥/SZT-G9
6'Gy | 8¢ |82z | 06T | 2Tz | 0SS | 962 | OFZ | 06T | 6TT | OL | 08 |T9T [08T [09T |O¥E | T | ¥T |OPT |0OT | GL | 2€ | - | ¥ | 9T |S9T |S2T | S6 | 0S | O'%/00Z-Z€
v'ey | 2v | 20z | 09T | S0Z | 825 | 962 | Ov2 | 06T | 6TT | 0L | 08 | ST | 08T |09T |OvE | T |+T |OFT |0OT | GL | 2€ | - | ¥ | 9T |S9T |S2T | G6 | 0S | 0°€/002-2€
¢S |za| o |ed|enafle [Tl |1s|ta | ™ | 1d |TING
Bi
1 [€1 21|11 | D |9 |V |[eN|IN|W | M| d |€H|cH|TH|H 14 2l lolala 2 sl lolala -
wbiam
[ww] suoisuawig
Tl Tl
ZNG L] I N |
5= 7 cal 7 M 7 s¢
Ao ot [T 1) by
! gle—t
L—%
[4) N IS
IN M
Slo—¥ 7 7 G'¢C 4 orl 7 J o
| | | L
' T T o T
@% ) | b4
o , = T i
T @ aim _E,t Ta 3 i
W — |
e i
\ ARNARA O (v o
oouguU = —_ —_
T LU ooooon) | L =
.m\m/ | | 0000 £
T = 1
~H/_nu — o |\ ) m 3
B [6Q] - &FT
( ) f i ( )
S'IX0CI 3
gle—7 ZNa
v G IXGZN 73
44

405

- info@krueger-krefeld.com - www.krueger-krefeld.com

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063



3 series

CENTRIFUGAL PUMPS

50 Hz

DIMENSIONS 3()8 40, 50, 065

1senbal uQ [z]

prepuels [1]

1a

70T 9G8 | 808 | G'¢¢T | 00C | 09T | ¢cOv | 9T | S8T | S¥T | STT | S99 14 8 8T | 00¢C | 09T |VET | 08 GT/09T-59
9L 98 | 86L | G'¢¢T | 00C | 09T | ¢O¥ | 9T | G8T | G¥T | GTT | S99 14 8 8T |00C | 09T |[VET | 08 TT/09T-S9
T€T €€8 | 86L | OTT | 00C | 09T | ¢O¥ | 9T | G9T | GCT | G6 0S - 14 9T | G8T | GVPT | GTT | 99 GT/002-0S
10T €€8 | 86L | OTT | 00C | 09T | ¢Ov | 9T | S9T | GCT | S6 0S - 14 9T | 68T | SVPT | GTT | 99 TT1/002-0S
L0T €€8 | 86L | OTT | 08T | 09T | ¢8€| YT | OST | OTT | 08 (04 - 14 9T | G8T | S¥T | STT | 99 TT/002-0¥
a A d Nd T T Ta | T | Td | INd
o] | 4 a M lzhltH g | TS| Dz el | [t] | TS
(%] (] (0] (%] (0] a (%] (%] |9PON
wbiem
[wwiy] suoisuswiqg
4
oLe 14 0cL 14
_ ”
2=
IS
Y

0S¢

¢Nd

<d

<a

406

- info@krueger-krefeld.com - www.krueger-krefeld.com

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063



3 series

CENTRIFUGAL PUMPS

50 Hz

DIMENSIONS 3()8 32, 40, 50, 65

1sanbai uQ [g]

prepuels [1]

09T Jomxoww][gTxovW] - [ - ] - [ -] - T -] - [8ss]ose[ocefosz] - [ - Joor| - [Sve[Gee[o08T[SOr] € [OT [SBT[SPT[STT] S9 [ ¥ | 8 [8T [00Z [09T | vET [ 08 22/002-G9
T |STXOPN | STXOPN | 09 [ vTe|vSz | vT | 0se| 0z | T29 | za8 | 0se | oze [0Sz |ovT | s6 | 00T | 0z [8ez | Szz| 08T [Sov| ¢ |9t |s8T|spT |Gt | G9 | v [ 8 | 8T |00z |09t [¥ET | 08 | 5'8T/002-G9
82T |stxorN | sTXOPN | 09 [ vTe|vsz | v1 [ ose] oz | 129|808 0se [ oze [ 05z | ovt | s6 [ 0otT | 0z |8z | szz | 08T [sov| z [ot|ser|avr|stt| 9 | v [ 8 [8T |00z |09t [¥ET | 08 GT/002-G9
2. | STXCEWN]STXCEW] 05 [992[ 9Tz [ 2T [0.2] ST [647] 299 00€ [ 08¢ [ 2Te [OvT [ 56 [ 00T [ 82 [S6T [00Z [ 09T [09€| Z [OT [SBT[SPT|STT| S9 [ ¥ [ 8 [8T [00¢ [09T [#€T | 08 | Z'6/09T-G9
0L |STXcEW |G TXCEW| 05 [ 99z | 9Tz | 2T | 0.2] ST |64 ] 29| 00€ [ 082 | 2Tz [ O¥T [ 6 [ 00T [ 82 [ S6T[00Z | 09T [09€ | Zz | 9T [ S8BT |SKT|STT| S9 | ¥ |8 [8T [00¢ [09T [#€T | 08 | &°2/09T-G9
19 [ STXCEW]|STXCEW] 05 [992 [ 9Tz | 2T [0.2] ST [6.F] 229 00€[ 082 [Tz [OvT [ 56 [00T [ 82 [S6T[08T [ 09T [OvE| Z [ 9T [SBT[SKT|STT| G9 | ¥ [ 8 [8T [002 [09T [v€T | 08 | G'2/S2T-G9
09 |STxeEW |G TXCEW| 05 [ 99z | 9Tz | 2T | 0/2] ST |6.¥]229]00€ [ 082 ] zTe [ovT [ S6 [ 00T [ 82 [S6T[08T | 09T [OvE| Z | 9T [ S8BT |SKT|STT| G9 | ¥ |8 [8T [002 [09T [+#€T | 08 | &'G/S2T-G9
16, | sTxeew] s Txcew] os [ 99z] 9tz] zt[0sz] ST [ 6.v] 299] 00e] S92 2Tz | sTr] 0L 00T |8z [S6T ][00z 09T [09e] 2 [9T[sot]ser[ g6 [ o5 [ - [ v [or[ssr[svi][str] s9 [ 2'6/002-06
9'69 | STXCEW] STXCEW]| 0G | 99| 9Tz | 2T | 022 ST 6/ | 29| 00E| S92 | 212 | GTT| 0L | 00T | 82 | S6T | 08T | 09T |[OvE| ¢ | 9T [G9T|GeT| G6 | 0S | - | v | 9T | G8T|SG¥T|STT| 99 | SZ/09T-0S
8'€9 |G TxceW| g TxceEW]| 05 [ 99z[ 9Tz | 2T [ 022 | ST [ 647 | L29] 00€| S92 | 2Te | GTT | 0L | 00T | 82 | G6T | 08T 09T [ovE| ¢ [ 9T [S9T[Ger|[ G6 | 05 | - [ v 9T [g8T[GvT[STT| S99 | §'G/09T-0S
G2y | STX0ZW] G TXSZW] 05 [Ovz[ 06T[ 2T [ 0cz] ST[G6€E] 05| ¥Sc| Ove | 06T [ #TT | 0L ] 00T [ 02 [TOT | 09T [ €T [262] ¢ [9T[G9T[Ger[G6 [ 05 [ - [v [9T[S8T[SvT[STT] S99 [ O0%/S21-0S
2y | STX02N| S TXGZN| OF | 002 | 09T | 2T | 02z | ST | 88€| 8¥S| G2 | Ove | 06T | #TT | 02 [ 00T | 2€ [ G¥T [ 09T [2€T [262| 2 [9T[Sot[Ger|[ G6 [ 05 [ - [ v [9or[s8T[svT[STT| 99 | 0°€/S21-0S
969 [ STXCEW] GTx2EW] 05 [ 992] 9Tz| 21[ 0/2] ST[ 6.¥[ L29] 00€] G9z[ zTe| STT[ 0] 00T[ 8z [ G6T|[08T| 09T |[OvE] 2 | ¥T|OST|OTT[ 08 | OV | - [ ¥ [9T|G8T|GPT|GTT| G9 | §2/002-0F
ze9 | gxeew| stxeew| os | 99z| otz| 21| 0s2] st 6.%] L29] ooe] s9z] zre| s1T] 02| 00T | 82 | S6T | 08T| 09T | OvE| 2 | ¥T|0ST|oTT| 08 | Ov | - [ v [ot|seT|arT ST S9 | S'S/00z-0v
STy | STX0ZN| STXSZW| 0S| OvZ| 06T| 21| 022] ST| S6€[ 0SS| ¥S2| Ove| 06T| 8TT| 0L ] 08 [ OZ | T9T| 09T | 2€T|262] T | ¥T|OST|OTT| 08 | Ov | - | ¥ | 9T | S8T|GPT|SIT| S9 | O¥/09T-OF
6 | sTx0eW] STXGZW] ov [ 00z] 09T] 2T | 0ze| ST| 88€| 82S| #Ge| Ove| 06T| 8TT| 0L | 08 | 26| G¥T | 09T | 2€T|262| T |vT|osT|oTT[ 08 | o | - [v |or|G8T|GpT|GTT| G9 | O'€E/09T-OF
9%, |STXCEW[GTXCEW] 0G [99z[9Te [ 2T [0z ST [6.r[L09]00€ [ 0rz [ 06T [6TT [0 ] 08 [8Z [G6T [08T [09T [ovE | T [¥T [ovT[00T [ G. [ 2¢ | - [v [9T [G9T [GeT | G6 | 05 | &'Z/00Z-2€
829 |G TXcEW |G TX2EW | 0G |99z | 9Tz | 2T |02z GT |64t 09| 00€ ] OvZ | 06T |6TT [ 0L | 08 [8Z [G6T [08T [09T [oveE | T [¥T [ovT 00T | G2 | 2€ | - |+ [9T 99T [Ger| g6 | 05 | &'S/002-2€
zs|za e |ed [enal|le|tl|Ts]ta | ™ | 1d | ING
B A 17 12| 1 4 a |V [eN|[IN| W [M| o [vH|€H |gH [TH | H |Bid
1] | 2 €1 |¢ 0|9 o) 4 €H | 2l slolalal| z s 2!l o| o | eron
ULV
[ww] suoisuawig
w N
g |@ 028
Yy
0
< ad vt
6 || o
G'8G 324 (14% 7
— 11 7] ——t
!
e ¢ by _J £ t
Ly
5=
o 9
CN = BN W [
IN [ W
Sl - ¥ : E] 2 3 7 WG
= _ o ,
8lg—7 i
- — . - 1)
W
/P> — T by
— T |\ S 22
x =
g g
N N m
8lp—7 E
7 1Y 29—t
A A ¢Nd
v <d
<a
[

407

02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax



CENTRIFUGAL PUMPS

3 series

DIMENSIONS 3L S 80'160

50 Hz

$ 200

oY
544 o8l
§/ I
A% Te]
m [Ze)
o | THY ' i
Rl 3 7
& .
o o
- - - 0
\ N M
wn
~ - \,
L 0
*
l
© 85C
T
© Lig] o 14
L
/ |
__74
N
0
™
0| ¢
x| =
o
<+
=
| S
L) [Te)
|
0w o
2 o | - o A 1 w1
s & = S
L~ _— T ]
-_— X {, s:‘
T
)
N
[44 00LNG
Gl @
Gz ¢

350

09

14%%

1414

-
<

= [T NE N R Yo
[=)

=D M |0

%’ﬁ A |||

MMM~

m MM~

0|0 ||

g 0

o )

2 |g|o|w|o

o (2id|did

£ lsii=ll=]l=]

5 © 0|0 |0

a DT

ololo|o

@ |© |© |©

408

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



3 series

CENTRIFUGAL PUMPS

50 Hz

DIMENSIONS 3LS 65'250, 80

409

SGEE | S'TXOSW |S'TXOSI | LT | 6T | 96€ | S'CE | 69€ | T2OT | 002 ooﬁomm 0/ | S6€E | 8TE | SOE | 08 | 09T | 00¥ | STE | OZT | 2T | S2 | ST | OTE | 082 | 002 | 08Y | 22 | 002 |SET | 2 ‘P14 08 |¥Z | See | 08T |SST | 00T | LE/0S2-08
00C¢ |[S'TXOVW | STXOVIN | ¥T | GT |0C€ | S'8S |62€ | €T6 | 8T mniomm 08| 0GE | 6.2 |T¥z | S9 |SCT |S¥E| 082 | S6 | ST |22 | €T |SPe |05 | 08T |0y |22 | 002 |SET |2 P14 08 |¥Z |S2Z | 08T |SST | 00T | 22/002-08
0Z€ |[S'TXOSW | S TXOSI | LT |6T |96€ |S'CE | TVE | 896 |00C oomioﬂw 0/ | G6E | 8TE | SOE | 08 | 09T | 09€E | 082 | OZT | 00T | S | ST |OTE | 0S2 |00Z | 0S¥ | OZ | S8T | 02T | T 614 S9 |22 | 002 | 09T |SET | 08 L€/052-99
€0€ [S'TXOSW | S'TX0SIN | LT | 6T |96€ | S'CE | TVE | 896 | 00C oomiohm 0. | S6€ | 8TE | SOE | 08 | 09T | 09€ | 082 | 0ZT | 0OT | G2 | ST | OTE | 052 | 002 | 0S¥ | 0Z |S8T | 02T | T P14 S9 |22 | 002 | 09T |SET | 08 0€/05¢-59
[163] N A sajea; © |14 | O d v | TV 7 S1|€1| T |11 | T |[TW|WN |ZN|IN| M | d |SH|VH|€H |¢H |TH | H |¢S|2d |cd ZNa 1S| 1A | TM | Td |ING dhrd
8dA} awnd
wbam [ww] suoisuawig
— L
5 =
¢N
IN
LN 7 7 cae—¥
ES
! Ao T |o
F) = =
pu
pu g
T
D o
8l¢—-8

v

- info@krueger-krefeld.com - www.krueger-krefeld.com

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063



3 series

CENTRIFUGAL PUMPS

50 Hz

DIMENSIONS 3 L S 80

GeC ¢

TOr | 8T|Ser| TF | S8E| TSOT|Gze | Gez | €6€]GL|Gev | 95e | TTE 00T | S9T | ST | GTE | 02T |82 | G2 | GE€ |08z [ Szz [S0G | Sv/0Sz-08
Gee | vt |o96e]| sze |1re | €66 |00z |00z |0LE |02 ]S6E | 8TE [S0e | 08 |0€T |09¢ |08z | 56 | Sz |0z |ote | 0SZ |00Z |0SY | 2€£/002-08
9o | ¥T |96c| 528 |TrE | €66 | 002 |00Z |0LE |02 |S6E | 8TE | SOE | 08 |OET | 09€ |08z | S6 | Sz |0Z |0TE | 0SZ | 002 |0GY | 0€/002-08
L6y |€Q| © | T4 [ O | & |[ev |1V |S1]e1]e1|T1] 1 [TW| W |[eN|IN| M |[SH|VH| €H |2H | TH | H
adA) dwngd
ybBiam [ww] suoisuawiq@
e
S ol=
[16—%
& © o
]
g
N =] 7 3 4 4}
IN , 4_ ,
] = - 7 M 7
- |
| | —
, =
X .
I T
- m =3 | o s
: e S B
i — = Dol
S==—1F | gl
. I N %g g
= F =" * f *
8168 I L !
O D) ,
U ,
= | 3
/] "BeNd
CIX0GH
v v el @
G IXOSH
00Z @

410

- info@krueger-krefeld.com - www.krueger-krefeld.com

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063



CENTRIFUGAL PUMPS

3 series

DIMENSIONS 3 L S 80

50 Hz
095
S
082 002 08 1 &
s S
e <t
N E
o 2
o © g
N © ; ) wn
3 % 5 Jg
& ‘ ™ S
wn n o
T sl 2
(=2}
S
|
1
wn
0\ |
0
s
|
(e}
|
3
c8y|e o8
905
0%
&
{K #
N ‘
N
Y
& !
re} o
= 3 ‘
Q ‘
wn = —
3 |
© ‘
=
2 |
o <
1 <
00}
I
e w®© O
['el
&
<
@ o 00ING
sl o
42X

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS 3 Serles

DIMENSIONS 3()P 32, 40, 50, 65 50 Hz

Z-¢18

7

S
o
—
_ 1 <
o
7o) ©
= o
! (<8}
< o X 2
~ > o
~ N ©
0 -
o ~N
S ox B
M I UN-’Q 172}
ISR n
| |~~~ c
N oW
] 0 © o
o s '
e L8 c
w| - = = FeT)
s & £
©
>9 &) =
8 o
< L
N
- ;Zj =z
% D
o L
.

V2

O—
4-9¢18

412

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



3 series

CENTRIFUGAL PUMPS

50 Hz

DIMENSIONS 3()P 32, 40, 50, 65

1sanbai uQ [¢]

prepuels [1]

28T | S'TXOP | STXOFIN | 000T | 09€ | 0S¥ | 0T | 008 | 00T | 069 | ESTT | 962 | 00T | S¥Z | S22 | 08T | GG¥ | 9T | G8T | S¥T |STT| G9 |+ | 8 | 8T |00z | 09T |v€T | 08 22/002-59
66T | STXOPN| S TXOFN| 000T| OE€| 0Zv| 08€| 008| 00T| ¥S9| LTTT | 962 | 00T | 82 | S2z | 08T | SSv | 9T |S8T|SvT [STT| S9 |+ | 8 | 8T |002 | 09T |¥€T | 08 | G'8T/002-G9
12T | STXOvN | STXOPIN | 000T | 0€€ | Ozv | 08€ | 008 | 00T | 0T9 | €20T | 962 | 00T | 8€2 | G2z | 08T | SS¥| 9T | S8T|SvT|[STT| S9 | v | 8 [ 8T |00z | 09T [¥€T | 08 GT/002-S9
6TT [ S TXOVIN | S’ TXO¥IN | 000T | OEE | O2v | 08E | 008 | 00T | 0T9 | €20T | 962 | 00T | 8€Z | 002 | 09T | OT¥ | 9T | S8T | S¥T |STT| S9 |+ | 8 | 8T |00Z | 09T |vET | 08 GT/09T-G9
¥IT [ S TXOVIN | S TXOPIN | 000T | OS€E | 02¢ | 08€ | 008 | 00T | 0T9 | £20T | 962 | 00T | 8€Z | 00Z | 09T | OT¥ | 9T | S8BT | S¥T |STT| S9 |+ | 8 | 8T |00zZ | 09T |vET | 08 TT/09T-G9
J0T | STXZEW | STXZEN | 0S8 | 00E | 06€E | 0SE | 059 | 00T | Z8% | S¥6 | 962 | OOT | S6T | 00Z | 09T | OTY¥ | 9T | S8T |S¥T [STT| S9 | ¥ | 8 | 8T | 00Z | 09T |¥€T | 08 | 2'6/09T-G9
€0T | S TXZEW | S'TXZEW | 0S8 | 00E | 06E | 0SE | 059 | 00T | 2vv | S06 | 962 | 00T | S6T | 00Z | 09T | OTY | 9T | S8T | S¥T [STT| S9 | ¥ | 8 | 8T [002 | 09T |¥€T | 08 | S2/09T1-G9
16 |STXZEW|STXZEW | 068 | 00€ | 06€ | OSE | 0S9 | 00T | Zv¥ | S06 | #SZ | 00T | S6T | 08T | 09T | 06€ | 9T | SBT | S¥T |STT| G9 |+ | 8 | 8T |00Z | 09T [vE€T | 08 | G'/SCT-S9
06 [S'TXZEW|STXZEW | 0S8 | 00E | 06€ | OSE | 0S9 | 00T | Zv¥ | S06 | ¥SZ | 00T | S6T | 08T | 09T | 06E | 9T | S8BT | S¥T |STT| S9 |+ | 8 | 8T |00Z | 09T |vE€T | 08 | S'G/S2T-S9
28 [S'TX0ZW|STXGZW | 062 | 00E | 06€ | OSE | 065 | 08 | 88E | TS8 | #S2 | 00T | T9T | 08T | 09T | 06€ | 9T | S8T | SYT |STT| S9 | ¥ | 8 | 8T | 002 | 09T |vET | 08 ¥/S2T-G9
¥'GZT | S TXOvIN | S TXOvIN | 000T | OEE | 02 | 08E | 008 | 00T | OT9 | €20T | 962 | 00T | 8€Z | 00 | 09T | OT¥ | 9T |S9T [G2T | G6 | 0G | - | ¥ | 9T | S8T| G¥T |SGTT | S9 GT/002-0S
G'/TT | S'TXOP | S'TXOFIN | 000T | OEE | 02 | 08€E | 008 | 00T | OT9 | €L0T | 962 | 00T | 8€C | 00Z | 09T | OTY¥ | 9T | G9T | S2T| S6 | 0S5 | - | ¥ | 9T | S8T | S¥T | STT | S9 TT/002-0S
00T |STXZEW|STXZEW | 0S8 | 00€ | 06€ | 0SE | 059 | 00T | 28 | S¥6 | 962 | 00T | S6T | 00Z | 09T | OT¥ | 9T |S9T |SeT| a6 | 05 | - | v |9t |s8T|spT|STT| S9 | 2'6/002-05
S'¥6 |G TXZEW | G TXZEW | 0S8 | 00€ | 06€ | 0GE | 0S9 | 00T | Zr¥ | S06 | 962 | 00T | G6T | 08T | 09T | 06€ | 9T | SOT |S2T| G6 | 0S5 | - | ¥ | 9T [ S8BT | S¥T |GTT| S9 | S'2/09T-0S
68 [STXCEW|STXZEW | 068 | 00E | 06€ | OSE | 0S9 | 00T | ¥ | S06 | 962 | 00T | S6T | 08T | 09T | 06E | 9T | S9T |SeT| S6 | 05 | - | ¥ | 9T | S8T|GvT |STT| S9 | S°G/09T-05
G'T8 |G TXOZW | S TXGZW | 052 | 00€ | 06€ | 0GE | 065 | 08 | 88E | TS8 | ¥G2 | 00T | TOT | 09T | 2ET | ZrE | 9T | SOT |S2T| S6 | 0S5 | - | ¥ | 9T | S8BT | G¥T | GTT | S9 ¥/G2T-0S
6, |S'TX0ZW|S'TXSZIN | 0GL | 00E | 06E | OSE | 065 | 08 | 99€ | 628 | #SZ | 00T | S¥T | 09T | ZET | 2vE | 9T |S9T |SeT| G6 | 05 | - | ¥ | 9T | G8T | G¥T | STT | S9 €/G2T-0S
G/, [stxozw|sTxszW| 012 | 00€ | 06€ | 0SE| 0SS | 08 | 21€| 082 | #SZ | 00T | 8€T| 09T |2€T|2ve | 9T [S9T |SeT| S6 | 05 | - | v | 9T |s8T|svT|STr| 99 | 22/S2T-05
LTT | G TXOPIN | G'TXO¥IA | 000T | OEE | 0Z¢ | 08E| 008 | 00T | 0T9| €20T | 962 | 00T | 8€Z | 08T | 09T | 06E| ¥T | OST| OTT | 08 | O¥ | - | ¥ | 9T | S8T| G¥T |STT | S9 TT/002-0%
S'¥6 | STXZEW| G'TXZEW | 0S8 | 00€ | 06€ | 0GE | 0S9 | 00T | Z¥¥ | S06 | 962 | 00T | S6T | 08T | 09T | 06€ | ¥T | OST| OTT | 08 | OF | - | ¥ | 9T | S8T|G¥T |STT | S9 | §°2/002-0¥
68 | S Tx¢eW| s TxzeW]| 058 | 00€| 06€] 05| 059 00T | 2| S06 | 962 00T | S6T| 08T| 09T | 06€E| ¥T|0ST|OTT| 08 | OV | - | ¥ | 9T |g8T|SvT|STT| 99 | S'S/002-0%
S'79 |G TX0ZW | G'TXGZW | 0S. | 00E| 06€ | 0GE| 065 | 08 | 88€| T€8 | ¥Gz| 08 | T9T| 09T | 2€T| 2ve| #T|0OST|OTT| 08 | OF | - | ¥ | 9T | S8T|S¥T|STT | S9 ¥/09T-0%
S/, |STX0ZW| G TXGZW| 0S2 | 00€| 06€ | 0GE| 065 | 08 | 99g| 608 | ¥Sz| 08 | S¥T| 09T | 2eT| 2ve| vT|0OST|OTT| 08 | OV | - | ¥ | 9T |S8T|SPT|STT | S9 €/09T-0%
TG [ S TX0ZN| S'TXGZIN| OT. | 05Z| OvE| 00E| 0GS| 08 | LTE| 09. | €TZ| 08 | 8ET| O¥T| ZTT| 20E| ¥T | OST|OTT| 08 | O | - | ¥ | 9T | G8T | G¥T |SGTT | S9 | 2'2/SCT-OF
S8y | G TX0ZW| G'TXGZW| 0T. | 0S2| OF€| 00E| 0SS| 08 | LTE| 092 | €T2| 08 | 8€T| OVT| 2TT| 20€| ¥T | 0ST|OTT| 08 | O | - | ¥ | 9T [S8T|SpT|STT| S9 | ST/S¢T-Ov
8'66 |STXZEW |G TXZEW | 0S8 | 00€ | 06€ | 0GE | 0S9 | 00T |Z¥v | G588 | 962 | 08 | S6T | 08T | 09T |06€ | #T [OPT |00T | G2 | 2€ | - | v |9T |S9T|SeT| G6 | 05 | G'2/00Z-2€
88 |S'TXZEW |S'TXZEW | 068 | 00E | 06€ | OSE | 0G9 | 00T |Zv¥ | G88 |96Z | 08 |S6T | 08T | 09T | 06E | ¥T |OVT |00T | G2 | 2€ | - | ¥ | 9T |G9T |S2T | G6 | 0S [ §'S/002-2€
2. |S'TX0ZIN |S'TXSZIN | 0GL | 00E | 06E | OSE |06S | 08 |88E | T€8 | 962 | 08 |TIT | 08T | 09T | 06E | ¥T |OVT |00T | GL | 2€ | - | ¥ | 9T |G9T |GeT | G6 | 0S ¥/002-2€
89 |5 Tx0zZW |[STXSZW | 062 [00€ | 06€ | 05 | 065 | 08 |99€ | 608 |96Z | 08 |S¥T | 08T |09T |06€ | #T |OvT |00T | G2 | 2€ | - | ¥ | 9T [S9T |set | s6 | 0S £/002-2€
S'€S |S'TX0ZW |G TXGZW | 052 | 00€ | 06€ | 0GE |06S | 08 |LTE | 09L |¥S2 | 08 |8ET | 09T |2€T [2ve | ¥T |OPT |00T | G2 | 2€ | - | v |9t |S9T|SeT| S6 | 05 | 2'2/09T-2€
16 |sTx0zZW [STXSZIN | 062 | 00€ |06€ |0SE | 065 | 08 | 21€ | 092 |¥Sz | 08 |8€T | 09T |2€T |2ve | ¥T [ovT |o0T | G2 | 2e | - | ¥ |9T |s9T|ser | s6 | oS | ST/09T-2€
S'ey |G TX0ZW | S TXGZW | 0TL | 062 | O¥€ | 00€ | 0SS | 08 | zZ2| STL |€T2| 08 | 62T |0vT | 2Tt |20 | #T [OvT |00OT | G2 | 2€ | - [ v [9T [S9T|Set | 66 | 06 | T'T/S52T-2€
2S|za|o|ed |ena|lel|ltl|ts|ta| ™ | 1d [TING
Hr%“% A A L |[eN|gN|IN| 3 |Q |T18]| 4 V |8 |€H|2CH|TH| H 2 2| 2| o P I 50O

[ww] suoisuawig

413

02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax



3 series

CENTRIFUGAL PUMPS

50 Hz

DIMENSIONS 3LP 65'250, 80

414

\a

1/€ [STXOSW]STXOSW] 8 [6T] - [00ZT | 000T [96€ [0/ [0LZ [89€ET [09% | 065 [ 0€S [SZT [ 09 [0TE [ 082 [00Z [0vS [22[00Z [SET | ¢ B4 08 [ ¥z [SZz [ 08T [SST [ 00T L€/052-08
2S¢ |STXOVN [STXOVIN | 8 [6T | - | 002T | 000T [0Z€ | 0¥ | 069 | 882T [ 09% | 06S | 0€S |S2T | 09 [Ste | 0S¢ | 08T |06 [22 | 002 [SET | 2 ‘B4 08 [¥Z [S22 [08T |GST | 00T | 22/002-08
G8T |STXOVIN[STXOVN| G | ST|0Z| 000T | 008 | LTE| 09€ [ ¥S9 | ZVTT | OEE | OZY | 08E [ G2T | 0S [8€Z | G2z | 08T |SS¥ |2z |00z [SET | 2 B4 08 | ¥z [ Gez | 08T |SST | 00T | 5°'8T/09T-08
9/T |STXOPW |STXOPN| G |ST|02]000T | 008 |ZT€|09€ |0T9 |860T | OEE | 0ZF | 08€ |S2T | 0G |8€Z | Gzz | 08T |SSv |22 |00z |SET | Z P14 08 |¥2 | S2z | 08T | SST | 00T GT/09T-08
9/T [STXOVIN [STXOVIN| G [ST 02| 000T | 008 |ZTE[09€ |0T9 | 860T [OEE |02 |08E |SCT | 0S |8€Z | G2z | 08T [GSY [22 | 002 |SET | ¢ P14 08 |z | S2z [ 08T [GST | 00T | ¥ST/09T-08
¥9T |[STXOPW |STXOPN| G |ST|02]000T | 008 |ZT€ | 09€ |0T9 |860T | OEE | 0ZF |08 |S2T | 0G |8€Z | Gzz | 08T |SSv |22 |00z |SET | Z P14 08 |¥2 | S2z | 08T | SST | 00T TT/09T-08
€. |STXOSN [STXOSW | 8 [6T | - [002T | 000T | 96€ [0LF |0LL | EVET [09¥ [ 06S | O€S | 00T | 09 |OTE [0Sz | 00Z [ 0TS [02 [S8T [02T | T P14 69 [Zz |00z [ 09T [SGET | 08 L€/0G2-99
¥S€  [STX0SW |STX0SN | 8 |6T | - [002T [000T [96€ [0.F [0/ | €#ET | 09% [ 06S [ 0€S | 00T | 09 |0TE [0S2 002 | 0TS [0z [G8T [02T [ T P14 69 |22 [00Z | 09T [SET | 08 0€/052-59
A A ds|vals |L 3 9 |0 |19 |49 EN [N |IN |d |VH |€H |ZH |TH |H |2S|2d |¢d ¢Na TS |Td |11 |Td |INd
[46x]
6 adAy dwng
ybsm [ww] suoisuawig
¢N L
IN 3 001
vae—¥ J d
(02} |
b T
AV _ Il
e
= |
—_— LI
I[
T s 1 =
()
1L
P d
T
N

18

- info@krueger-krefeld.com - www.krueger-krefeld.com

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063



CENTRIFUGAL PUMPS

3 series

DIMENSIONS 3L P 80

50 Hz

CH

2-G3/8

509

460

B1
V2

530

% 200
¢ 135
DN8O,

470

1000

‘ 125

100

590

1200

Weight
[kgf]
35
365
44

V2

V1
M50x1.5 | M50x1.5

M50x1.5 | M50x1.5
M50x1.5 | M50x1.5

S
0
20
25

396
396
435

B1

B
310 | 1368 | 770
310 | 1368 | 770
335 | 1398 | 800

H3

H2
280

H1
180
180
200

H
510
510
565

Pump type
80-200/30
80-200/37
80-250/45

415

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 -

info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS

3 series

DIMENSIONS 3L P 80

50 Hz
09
08¢ 00¢ 0G| L
8
[T
_ (@))
=
- X
o)
B2
S
p S5
| 1
B 3 8 0 o
o £
- >
™A
0Lg 1}7
8y |8
|
\
H i
AR . 5
i
o I ! 8
%L | 1
ol £ — ‘
[=;] A
D |
\J ]:: '
N UL HH L 1
¥ il l 4
0 L LHAH H
% L] |
3 <
el
g 3
o
5
177
888 ni
| CLS — >l g 8
T — | -
A L]
00LNGa
GGl ¢
7]
416

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS 3 Serles

PACKING AND WEIGHT 3() M 50 Hz
P PACKING [mm] | WEIGHT | PACK

ump type kel | TYPE

X Y Z

32-125/1.1 | 450] 250 300[ 21.5

32-160/L5 | 00| 500] 330| 242

32-160/2.2 273 |

32-200/3 34.9 TYPE 1
32-200/4 500 330| 390 42.3

32-200/5.5 53.2

32-200/7.5 |580]350(480| 65 2

40-125115 | o0l o] 200] 223

40-125/2.2 247 |

~N

40-160/3 490/ 280 | 340 |30

40-160/4 37.6

40-20055 | (o0l ac0] 4go] 545

40-200/7.5 61.6 | 2 XN
40-200/11 | 700]350 490 73.8

50-125/2.2 30.8 - X _
50-125/3 490| 280| 340| 315 | 1

50-125/4 37.6 TYPE 2
50-160/55 | ool aco| agol 54

50-160/7.5 61.1

50-2009.2 |00l ac0] 400l 675 | 2

50-200/11 735

50-200/15 | 880 390|520 100

65-125/4 500| 330|390 40 1

65-125/5.5 |580]350(480| 52 -

65-125/7.5 58.5

65-160/7.5 |0l 20| 400] 62

65-160/9.2 67

65-160/11 75.6 ‘ J t N
65-160/15 93 *‘ ¥ |
65-200/15 [ ool a00] 500|114 2 - -
65-200/18.5 127

65-200/22 136

80-160/11 | o | 200 | 5a3] 100

80-160/13 103

80-160/15 | ool 200l 518] 137

80-160/18.5 151

417

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS 3 Serles

PACKING AND WEIGHT 3()8 50 Hz
Pump type PACKING [mm] | WEIGHT | PACK
[kaf] TYPE
X Y Z
32-125/1.1 | 450 | 250( 300 236 | 1
32-160/1.5 | o0 | aeq| 4g0| 334
32-160/2.2 35.9
32-200/3.0 475
32-200/4.0 | 700 | 350(490| 48.8
32-200/5.5 65.3 TYPE 1
32-200/7.5 71.7
40-125/1.5 | o0 [ oe | 450l 289
40-125/2.2 33.3
40-160/3.0 41.9
40-160/4.0 | oo | aeil 400|459
40-200/5.5 67.4 N
40-200/7.5 73.8
40-200/11 880 390|520 114
50-125/3.0 43 1
50-125/4.0 46.5 T
50-160/5.5 | 700 | 350(490| 67.8 X
50-160/7.5 73.6
50-200/9.2 83.7
50-200/11 880 | 390520 122 TYPE 2
50-200/15 136
65-125/4.0 47 5
65-125/5.5 60
65-125/7.5 | 700 | 350|490| 67
65-160/7.5 70
65-160/9.2 77
65-160/11 880 520| 76 N
65-160/15 970 580 104
65-200/15 880 | 390 520 128
65-200/18.5 | o £go| 141 J t \
65-200/22 160 1
65-250/30 | 110|500 | 717|322 | X ™\,
65-250/37 339 ‘ !
80-160/11 141
80-160/15R | 880 | 390 518| 153
80-160/15 153
80-160/18.5 | 970 | 390( 588| 162
80-200/22 219
80-200/30 | ool ool 717|325
80-200/37 344
80-250/37 354
80-250/45 |, ool ool g7 | 429
80-250/55 517

418

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS

3 series

DIMENSIONS AND WEIGHT 3(.) P

50 Hz

PACKING
Pump type [mm] WEIGHT
[kaf]
X ' z
32-125/1.1 715 | 340 302 135
32-125/1.1 M 312
AT o1
32_160/2.2 760 342
32_160/2.2 M 535
- : 390

32-200/3.0 809 390 68
32-200/4.0 831 72
32-200/5.5 913 208 88
32-200/7.5 99.8
40-125/1.5 760 302 485
40-125/1.5 M 340 322
40-125/2.2 760 302 51
40-125/2.2 M 322
40-160/3.0 809 342| 775
40-160/4.0 831 390 343| 64.5
40-200/5.5 913 208 89
40-200/7.5 94.5
40-200/11 1076| 420| 456 117
50-125/2.2

780 75
50-125/2.2 M 342
50-125/3.0 829 79
50-125/4.0 851 | 390( 343| 815
50-160/5.5 913 208 89
50-160/7.5 94.5
50-200/9.2 951 410| 100
50-200/11 1076 a20| 456 1175
50-200/15 125.4
65-125/4.0 851 390| 82
65-125/5.5 208 20
65-125/7.5 913 | 390 97
65-160/7.5 410 103
65-160/9.2 951 107
65-160/11 456 114
65-160/15 1076 420 119
65-200/15 476 127
65-200/18.5 1120 139
65-200/22 1175|450 496 182
65-250/30 1352 | 590 601 354
65-250/37 373
80-160/11 164
80-160/15R 1101 420! 476 176
80-160/15 176
80-160/18.5 1145 185
80-200/22 1310 506, 252
80-200/30 356
80-200/37 1377|590| 601| 365
80-250/37 377
80-250/45 1465 645 440
80-250/55 1570/ 680| 715/ 528

419

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS

3 series

MOTOR DATA 50 Hz
Pump type Power Motor Capacitor | Input Full load current Locked rotor current
KWW HP Size | Type (kW] A Al
50 Hz mF | Ve 230V | 400V | 690V | 230V | 400V | 600V
3OM 32-125A1M | 1.1 | 1.5 315 450 | 151 | 67 - 235 | -
3()M  32-125/1.1 15| 2 = - 2 59 | 34 365 | 211
3()M 32-16015M | 15 | 2 40 | 450 | 21 | 96 : a7 :
3()M  32-160/1.5 15 2 | % - - 2 59 | 34 365 | 211
3()M 32416022 M | 22 | 3 50 | 450 | 295 | 133 | - " |ess| - ’
3M 32-160/2.2 22| 3 ’ 28 | 83 | 48 532 | 307
3()M  32-200/3.0 3| 4 375 [ 113 ] 65 755 | 436
3()M  32-200/4.0 4 |55 100 . - 51 | 159 92 828 | 478
3()M 32-200/5.5 55| 7.5 1o 6.5 |04 6 ] 90 155
3()M 32-200/7.5 75| 10 85 136 | 7.9 140 240
3()M 40-125M15M | 15 | 2 40 | 450 | 21 | 6 : a7 :
3()M 4012515 15| 2 = - 2 59 | 34 365 | 211
30OM 40-12522M | 22 3 | 0 50 | 450 | 295 | 133 | - 638 | -
3()M  40-125/2.2 22 3 28 | 83 | 48 " 532 307 ’
3()M 40-160/3.0 3 | 4 - 375 | 113 ] 65 755 | 436
3()M  40-160/4.0 4 | 55| 100 51 | 158 | 92 828 | 478
3()M  40-200/5.5 55| 7.5 - ’ N Y 104 | 6 90 155
3()M 40-200/7 5 75| 10 85 - 136 79 : 140 240
3()M  40-200/11 11| 15 | 132 13.1 2 | 127 136 | 787
30OM 50-125022M | 22 | 3 50 | 450 | 295 | 133 | - 638 | -
3()M 50-125/2.2 22 3 | %0 28 | 83 | 48 53.2 | 307
3()M 50-125/3.0 3 | 4 375 | 113 | 65 ’ 98 | 436 ’
3()M  50-125/4.0 4 | 55| 100 51 | 158 | 92 828 | 478
3()M 50-160/5.5 55| 75 T ) _ 6.5 104 | 6 90 155
3()M 50-160/7.5 75| 10 85 136 | 7.9 140 240
3()M 50-200/9.2 92 [125] ... 11 - | 188 ] 108 - 17 67.3
3()M 50-200/11 11| 15 13.1 22 | 127 136 | 787
3()M 50-200/15 15 | 20 | 160 17.5 30 | 17.3 231 133
3()M 65-125/4 4 | 55 100 51 | 158 | 92 - | 828 478 -
3(JM 65-125/5.5 55| 7.5 6,5 104 | 6 90 155
3(JM 65-125/7.5 25 | 10 | 112 85 136 | 7.9 140 240
3()M 65-160/7.5 85 136 | 7.9 140 240
3()M 65-160/9.2 02 [125] .| ) _ 1 188 | 10.8 17 67.3
3()M 65-160/11 11| 15 13.1 - 2 | 127] - 136 | 785
3()M 65-160/15 = | o0 17.5 30 | 17.3 231 133
3(JM  65-200/15 i 17.5 30 | 17.3 231 133
3(JM 652001185 | 185 25 21.3 39 | 225 339 196
3(JM  65-200/22 22 | 30 25 423 | 244 368 213
3LM  80-160/11 KNIECH P 13.1 22 | 127 136 | 787
3LM  80-160/13 13 | 175 15 25 | 144 188 108
3LM  80-160/15 15 20| o ’ ) Sl 1rs | 30 | 173 | 231 133
3LM 80-160/185 | 185 25 21.3 39 | 225 339 196
500

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



CENTRIFUGAL PUMPS

3 series

MOTOR DATA 50 Hz
Pump type Power Motor Input Full load current Locked rotor current
kW | HP | Size| Type fkw] (Al (Al
50 Hz 230 V| 400 V| 690 V| 230 V| 400 V| 690 Vv
3()S 32-125/1.1 [ 3()P 32-125/1.1 11| 15| 80 142 43| 25 199 | 115
3()S 32-160/1.5 [ 3()P 32-160/1.5 15| 2 | o | BS| 191| 59 | 34 294 | 17
3()S 32-160/2.2 [ 3()P 32-160/2.2 22| 3 269 | 85 | 49 - | 60.3 | 348 -
3()S 32-200/3.0 [ 3()P 32-200/3.0 3| 4 ]100 363 [ 111 | 64 66.5 | 38.4
3()S 32-200/4.0 [ 3()P 32-200/4.0 4| 55|12 o | 471 | 144 | 83 115 | 66.4
3()S 32-200/55 [ 3()P 32-200/5.5 55| 75| o, 6.35 | 105 61 ] 65.1 | 37.6
3()S 32-200/7.5 [ 3()P 32-200/7.5 75| 10 8.36 146 | 84 122 | 70.4
3()S 40-125/1.5 [ 3()P 40-125/1.5 15 2 | oo | gg | 191| 59 | 34 294 | 17
3()S 40-125/2.2 [ 3()P 40-125/2.2 22| 3 269 85 | 49 60.3 | 34.8
3()S 40-160/3.0 [ 3()P 40-160/3.0 3| 4 ]100 363 | 11.1 | 64 " | 665 | 384 )
3(.)S 40-160/4.0 | 3()P 40-160/4.0 4 | 55| 112 471 | 144 | 83 115 | 66.4
3()S 40-200/55 [ 3()P 40-200/5.5 55| 75| .| B35| 635 105| 6.1 65.1 | 37.6
3()S 40-200/7.5 [ 3()P 40-200/7.5 75| 10 8.36 - | 146| 84 - 122 | 704
3(.)S 40-200/11 3(.)P 40-200/11 1 | 15 [160 12.46 21.7 | 125 152 | 87.8
3()S 50-125/2.2 [ 3()P 50-125/2.2 22| 3 [ 90| B5| 269 85 | 49 - 60.3 | 34.8 -
3()S 50-125/3.0 [ 3()P 50-125/3.0 3| 4 ]100 363 | 11.1 | 64 - | 665 | 384 -
3()S 50-125/4.0 [3()P 50-125/4.0 4 | 55| 112 471 | 144 | 83 - 115 | 66.4 -
3()S 50-160/55 [ 3()P 50-160/5.5 55| 75 6.35 105| 6.1 65.1 | 37.6
3()S 50-160/7.5 [ 3()P 50-160/7.5 75| 10 | 132| B35| 8.36 146 | 84 122 | 704
3()S 50-200/9.2 [ 3()P 50-200/9.2 9.2 | 125 1055 - | 17.3| 10 - 126 | 727
3()S 50-200/11 3()P 50-200/11 |15 | 12.46 21.7 | 125 152 | 87.8
3()S 50-200/15 3()P 50-200/15 15 | 20 16.78 285 | 16.4 231 | 133
3(.)S 65-125/4 3()P 65-125/4 4 | 55| 112 471 | 144 | 83 - 115 | 66.4 -
3()S 65-125/55 [ 3()P 65-125/5.5 55| 75 6.35 105| 6.1 65.1 | 37.6
3()S_65-125/7.5 3()P_65-125/7.5 75| 10 | 132 8.36 146 | 8.4 122 | 70.4
3()S 65-160/7.5 [ 3()P 65-160/7.5
3()S 65-160/9.2 [ 3()P 65-160/9.2 92| 125 Bas | 1055 17.3| 10 126 | 727
3(.)S 65-160/11 3(.)P 65-160/11 1 | 15 1246 | - | 217 | 125 - 152 | 87.8
3()S_65-160715 3()P_65-160/15 15 | 20 | 160 16.78 285 | 16.4 231 | 133
3()S 65-200/15 3()P 65-200/15
3()S 65-200/18.5 |3()P 65-200/18.5 | 18.5| 25 20.56 34.1 | 19.7 290 | 167
3()S 65-200/22 3()P 65-200/22 22| 30 | 180 245 425 | 245 287 | 166
3LS  65-250/30 3LP  65-250/30 30 | 40 | 00 32.88 546 | 315 387 | 223
3LS  65-250/37 3LP  65-250/37 37| 50 40.45 66.7 | 385 484 | 279
3LS  80-160/11 3LP  80-160/11 1 | 15 12.46 217 | 125 152 | 87.8
3LS 80-160/I5R |3LP B80-160/15R | 15 | 20 | 16.78 v85 | 164 031 | 133
3LS 80-160/15 3LP 80-160/15 15| 20
3LS 80-160/185 |3LP 80-160/185 |185| 25 g3 | 2056 34.1 | 19.7 ) 290 | 167
3LS 80-200/22 3LP  80-200/22 22 | 30 | 180 245 425 | 245 287 | 166
3LS  80-200/30 3LP  80-200/30 30 | 40 32.88 54.6 | 315 387 | 140
3LS  80-200/37 3LP  80-200/37 37 | 50 | 200 20,45 667 | 371 asa | o285
3LS 80-250/37 3LP 80-250/37 37 | 50
3LS 80-250/45 3LP  80-250/45 45 | 60 | 225 48.86 79.8 | 46.1 540 | 312
3LS  80-250/55 3LP  80-250/55 55 | 75 | 250 59.3 994 | 57.4 693 | 400

501

Jorg Kriiger GmbH - Ennsstr. 17 - 47809 Krefeld - Tel.: 02151/391039 - Fax: 02151/391063 - info@krueger-krefeld.com - www.krueger-krefeld.com



